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Differential cost may be:

Incremental cost

Avoidable cost

Sunk cost

Both Incremental cost and Avoidable cost

Separable cost is also known as:

Avoidable cost
Sunk cost
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Joint cost
Incremental cost

Short term financing needs of business can be fulfilled by:
Overdraft

Issuing debenture

Issuing term finance certificate

Doing Investment

Which of the following factor is responsible for a difference between direct
materials consumed and direct materials purchased”
Factory overhead
Direct Labor

Change in Inventory
Total production cost

What type of relation exists between p
There is direct relation  (not Sure)
There is inverse relation

There is no relation

Given information is incomplete

If by- products are recycl
Opportunity cost
Replacement cost @
Both Opportunity cost and Replacement cost (not Sure) |'[ iS sure
Sunk cost

cost approach is used where:

By product is manufactured
nr%used for the accounting for by-product

If products/goods sold at split off point then cost can be allocated on

the basis of:

Cost basis

Hypothetical market value basis (not Sure)

Selling price ratio

Income basis
Lost units (Normal loss) 500 units
Units received from preceding
department 13,500 units
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\ Units completed in this department \ 11,750 units \

Required: Identify units still in process with the help of above data.
1,250 units

14,000 units

12,250 units

1,750 units

Which of the following about job cost sheets is NOT true?
Job cost sheets contain prime costs
Job cost sheets contain actual amounts of factory overhe
Job cost sheets contain actual amounts of factory overhea
Job cost sheet does not contain conversion cost

Budgeted FOH for actual volume = Fixed F
Applied rate
Blanket rate
Variable rate
Departmental rate

Which of the given state
It is fixed cost

It is variable cost

It is step fixed costg,

It is semi variable cost

replaced with product "B" costs Rs. 25.
is case?

Incremental cost (Not Sure)
Avoidable cost

Sunk cost

Opportunity cost

All of the followings are external factors while preparing the sales budget
EXCEPT:

Legal conditions

Government controls

Salesmen’s estimates

Political situations
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Which of the following cost line does NOT start from origin on a break even
chart?

Fixed cost line

Variable cost line

Revenue line

None of the given options

Budgeted sales and breakeven sales are Rs. 48,000 & Rs. 35,000 respectively
and the actual sales amounted to Rs. 43,000 during agparticular period. What will

be the margin of safety ratio? reference:

46% margin of safety ratio = MOS/bu ales x 100
- - MOS = budgted sales - break eve

27%thIS IS correct 0Ne :sow-sso

37% (Dhuko aa) 1300
60%

A company has budgeted sales of R ven sales of Rs. 5,000
during a particular period. What wi i
Rs. 5,000

Rs. 3,000 (Not Sure)
Rs. 13,000

Rs. 6,500

Which of the following is a
Marginal costing agproach
Direct costing appr
Contribution approach

ach for costing?

ich of the following is not concerned?

Capital investments

All of the following are balance sheet budgets EXCEPT:
Selling and administrative expenses budget

Cash budget

Accounts receivable budget

Liabilities budget

Which of the following is relied on by all other items in the master budget?

Production budget
Cash budget (Not Sure)
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Sales budget
Budgeted balance sheet

While constructing production budget, numbers of units manufactured are
calculated by which of the following formula?

Number of units to be sold + closing units — opening units

Number of units to be sold - closing units + opening units

Number of units to be sold - closing units — opening units

Number of units to be sold + closing units + opening units

When using conventional cost-volume-profit analys
about costs and sales prices are made. Which one of
one of those assumptions?

The sales price will remain unchanged per unit
The actual variable cost per unit must vary ov
The costs can be expressed as straight lines in
The variable cost will remain unchanged

some assumptions
following is NOT

Which of the following is a me exact time of
the workers?
Clock Card

Bin Card

Token System
Attendance Register

All of the foIIowin& avoid

Personal betterment of worker
with job
dition

or turnover EXCEPT:

| entry to transfer the cost of completed units from
ount would involve a credit to Work in Process and
wing accounts?

Income Summary
Raw Materials Inve
Finished Goods
Manufacturing Summary

The distinction between joint product and by product largely depends upon
which of the following factor?

The split off point of each product (Not Sure)

The market value of each product

The differential cost of each product

Management discretions
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Which of the following will be included in calculation of per unit cost under
variable costing?

Direct materials, direct labor, fixed overhead

Direct materials, direct labor and variable overhead

Direct materials, direct labor, variable overhead, fixed overhead (Note

Sure) |t IS Sure

Only direct materials and direct labor

Unit sold 700 pieces
D Corporation uses process costing to calculate the c
Crunchies. During the month 12,500 units were ¢
work in process at 25 percent completed. How man

of manufacturing

» 12,500 units
» 12,875 units
» 14,250 units
» 12,125 units

Opening WIP
Introduced during the year
Closing WIP
How many barrel
period?

put in to process.30, 000 units were completed. Closing
WIP we completed. How much the equivalent units of output
would be produced?

» 20,000
» 30,000 units
» 36,000 units
» 44,000 units

What would be the effect on the cost of a department in case of normal Loss?
» Decreased
» Increased
» No effect
» Increase to the %age of loss
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In order to compute equivalent units of production, which of the following must be
reasonably estimated?

» Units

» The percentage of completion

» Direct material cost

» Units started and completed

If management predicts total direct labor costs of Rs. 100,000 and total overhead
costs of Rs. 200,000, what is its predetermined overhead rate based on direct labor
costs?

» 50%

» 100%

» 200%

» Cannot be determined

P Ltd applied overheads on the basis of
rate for the period has been based on

» Overhead was Rs.30,0
» Overhead was Rs.30,00

will be produced at a material cost of Rs.
direct labor hours at a cost of Rs. 10 per

» Rs.1 per unit

Which of the following is TRUE regarding the use of blanket rate?

» The use of a single blanket rate makes the apportionment of overhead costs
unnecessary

» The use of a single blanket rate makes the apportionment of overhead costs
necessary

» The use of a single blanket rate makes the apportionment of overhead costs
uniform

» None of the given options
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A Blanket Rate is:
» A single rates which used throughout the organisation departments
» A double rates which used throughout the organisation departments
» A single rates which used in different departments of the organisation.
» None of the Given

It is possible for an item of overhead expenditure to be shared amongst many
departments. It is also possible that this same item may relate to just one specific
department.
If the item was not charged specifically to a single depaktment this would be an
example of:
» Apportionment
» Allocation
» Re-apportionment
» Absorption

FOH absorption rate is calculated by the
» Estimated FOH Cost/Direct labor
» Estimated FOH Cost/Direct la
» Estimated FOH Cost/Machi
» All of the given options

Which of the following is / ar
» Hasley Premium Plan
» Hasley Weir

» Purchase order
» Purchase invoice

Which of the following is NOT an assumption of the basic economic-order quantity
model?

» Annual demand is known

» Ordering cost is known

» Carrying cost is known

» Quantity discounts are available
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A store sells five cases of soda each day. Ordering costs are Rs. 8 per order, and
soda costs Rs. 3 per case. Orders arrive four days from the time they are placed.
Daily holding costs are equal to 5% of the cost of the soda. What is the EOQ for
soda?

» 4 cases

» 8 cases

» 10 cases

» 23 cases (Not Sure)

All of the following are deducted from Gross Profit to ca
EXCEPT:
» Selling expenses
» Advertising expenses (Not Sure)
» Administrative expenses
» Financial expenses

te Operating income

Which of the following is CORRECT nufactured?
» Direct labor costs plus total m i
ring costs and

» Beginning raw materi ' factory overhead
» Conversion costs and i ments results in cost of
goods manufactured

» Prime cost

The components of the conversion cost are:
» Direct Material + Direct Labor + Other Direct Cost
» Direct Labor + FOH
» Prime Cost + FOH+ Other Direct Cost
» Prime Cost + FOH

The cost of Telephone bill of the factory is treated as:
» Fixed cost
» Variable cost
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» Step cost
» Semi variable cost

Which of the following is a cost that changes in proportion to changes in volume?
» Fixed cost
» Sunk cost
» Opportunity cost
» None of the given options

Cost accounting concepts include all of the following EXCEPT:
» Planning
» Controlling
» Sharing
» Costing

If a predetermined FOH rate is not applied and
from the planned capacity \level, the cost nit
» Remain unchanged for fixed cost 1

All of the following are chara isti e EXCEPT:

» A standard time is set fof th i

» If the time taken i i i the workers in the group receive
time wages

» Under this
production
» The rate is expressed in terms of certain sum of money for total production

» The rate is not expressed in terms of certain sum of money for total production

hod of remuneration a worker is paid on the basis of

Under Halsey premium plan, if the employee completes his job in less than the
standard time fixed for the job, he is given:

» Only wages for the actual hours taken

» Wages for the actual hours taken plus bonus equal to one half of the wage of
the time saved

» Wages for the actual hours taken plus bonus equal to one third of the wage of the

10
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



time saved
» Only the bonus equal to one half of the time saved

Which of the following is NOT a reason for carrying inventory?
» To maintain independence of operations
» To take advantage of economic purchase-order size
» To make the system less productive Not Sure
» To meet variation in product demand

Restocking of stores, in order to ensure efficient fumctioning of the stores
department and steady flow of materials to the production
» Managers
» Storekeeper
» Production In charge
» Sales supervisor

You made Rs. 10,000 loan to your cousi
company returned to you Rs. 10,850. Th
» Increases in loan
» Increases in dividends
» An 8.5% return on investment
» All of the given optiong

The net sales of the business Cost of Goods Sold for the
same period totals : In ratio?
» 0.22

Cost accountants are concerned about the ratios relating to the Profits and
Manufacturing costs. These ratios might include:

» Gross Mark up rate

» Inventory turnover ratio

» Cost of goods sold to sales ratio

» All of the given options

The total cost to produce one unit is Rs. 600. Direct materials are 20% of the total
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cost and direct labor is 1/3 of the combined total of direct labor and direct materials.
What was the cost for direct materials, direct labor, and factory overhead?

» Rs. 420, Rs. 60 and Rs. 120, respectively

» Rs. 60, Rs. 120 and Rs. 420, respectively

» Rs. 120, Rs. 60 and Rs. 420, respectively

» Rs 60, Rs. 420 and Rs. 120, respectively

Opportunity cost is the best example of:
» Relevant Cost
» Irrelevant Cost
» Standard Cost
» Sunk Cost

is the cost that is incurred a nsaction.
» Product Cost
» Period Cost
» Sunk Cost

» Historical Cost

Which of the following is calcCulat ses net sales as
denominator?
» Inventory turnover r
» Gross profit rate
» Return on Ifivestment

» None of the given options

y a for

While tra [ ntity will be evaporated; such kind of loss is

Period costs are:
» Expensed w, the product is sold
» Includedni cost of goods sold
» Related to specific period
» Not expensed

Costs that change in response to alternative courses of action are called:
» Relevant costs L
» Differential costs Not Sure |{ |S SUre
» Target costs
» Sunk costs
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When purchases are added to raw material opening Inventory, we get the
value of:

» Material consumed.

> Material available for use.

» Material needed.

» Raw material ending inventory.

Which of the following is deducted from purchases in order to get the value
of Net purchases?

» Purchases returns

» Carriage inward

» Custom duty

» All of the given options

When prices are rising over time, which o
methods will result in the lowest gross mar

> FIFO It | LIFO is
» LIFO Not Sure L
» Weighted Average g are rising

» Cannot be determined
Counting items to ensureg@n order is
» Ordering cost
» Carrying cost
» Stock out
» Holding cos

Which of tﬂlowing asic object/s of job analysis?
» Dete ation

ntoits b elements

tons| think this IS correct

» (Time saved/time allowed) x 100

» (Time time saved) x 100

» (Actual time taken/time allowed) x 100
» (Time allowed/actual time taken) x 100

All of the following are cases of labor turnover EXCEPT:

» Workers appointed against the vacancy caused due to discharge or
quitting of the organization

» Workers employed under the expansion schemes of the company

» The total change in the composition of labor force

» Workers retrenched
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Where there is mass production of homogeneous units or where few
products are produced in batches, which of the following cost driver would
be regarded as best base for the determination of Factory overhead
absorption rate?

» Number of units produced

» Labor hours

» Prime cost

» Machine hours

The term cost allocation is described as: \
» The costs that can be identified with specific cost centers.

» The total cost of factory overhead needs ong specific
cost centers.
» None of the given options

Budget/spending variance arises to:
» Difference between absorh ory o ad & capa evel attained
» Difference between budgeted factory overhead for capacity attained

and FOH actually incurred
» Difference between
» None of the given o

Capacity Varianc“»lume

» Difference between Absorbed factory overhead and budgeted
factory for capacity attained (Not sure)
orbed\factory overhead and absorption rate
ted*factory overhead for capacity attained and

d FOH actually incurred

debit to:
» Finished Go
» Manu
» Raw Materials
» Work in Process

Overhead

Which cost accumulation procedure is best suited to a continuous mass
production process of similar units?

» Job order costing

» Process costing

» Standard costing

» Actual costing

14
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A chemical process has no normal wastage of input. In a period, 3,500 Kg
of material were in put and there was abnormal loss of 15% of in put. What
guantity of good production was achieved?

> 2,175 Kg

> 2,975 Kg
> 3,325 Kg

> 4.425Kg

In the process costing when material is issuedyfor production to
department no 1.what would be the journal entry Passe

» W.I.P (Dept-I)
To Material a/c

» W.I.P (Dept-ii)
To Material a/c

» Material a/c
To W.I.P (Dept-ii)

» W.I.P (Dept-ii)
To FOH applied.

ctory overhead?

0 units
g department | 13,500 units,@4.50 per unit cost
Units completed in thiS department 11,750 units, @3.75 per unit cost

What was t of closing work in process?
» Rs.16,875

» Rs.14,437.50 (Doubted)

» Rs.14,437

» Rs.33,750

Raymond Corporation estimates factory overhead of Rs. 345,000 for next
fiscal year. It is estimated that 60,000 units will be produced at a material
cost of Rs. 575,000. Conversion will require 34,500 direct labor hours at a
cost of Rs. 10 per hour, with 25,875 machine hours.
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FOH rate on the bases on Budgeted Production would be?
» Rs. 5.75 per unit (doubted)
» Rs. 6.65 per unit
» Rs. 6.0 per unit
» Rs.1 per unit

The components of total factory cost are:
» Direct Material + Direct Labor
» Direct Labor + FOH
» Prime Cost only
» Prime Cost + FOH

If sales is greater than cost, it means:
» Profit
» Loss
» Neither profit nor Loss
» Can not be determined

Reduction of labor turnover, absenteeism

are the results of which of the
» Piece rate plan
» Time rate plan
» Differential plan

» Group bonus system

If an item of overh harged specifically to a single
departme
» Appo

entity

» The process of establishing the costs of cost centers or cost units

» The division of costs among two or more cost centers in proportion
to the estimated benefit received.

Selected information for a company for the year 2005 follows:
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Particulars Rs.
Cost of goods sold 30,000
Inventory, January 1 9,000
Inventory, December 31 7,800

What was the inventory turnover ratio?
» 3.57 times
» 3.67 times
» 3.85 times
» 5.36 times

The chief financial officer is also known as the;
» Controller
» Staff accountant
» Auditor
» Finance director (doubted

A typical factory overhead cost i
» Distribution
» Internal audit
» Compensation of plant manager
» Design

Given data that: g,
for more contents visit

http://groups.google.com/group/vuZs

Rs. 20,000
10,000
30,000
50,000

190,000

> Rs. 220,
> Rs. 240,000

Weighted average rate per unit is calculated by which of the following
formula?

» Cost of goods issued/number of units issued

» Total cost/total units

» Cost of goods manufactured/closing units

» Cost of goods sold/total units
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Material requisition is a document that supports the requirement of the
material. This document is sent to store incharge and approved by:

» Store manager

» Production manager

» Supplier manager

» Purchase manager

Direct Labor is an element of:
» Prime cost
» Conversion cost
» Total production cost
» All of the given options

Paysilp contains all EXCEPT:
» Gross pay
» Statutory & non- statutory deductions
» Net pay
» Tax rebates

All of the following are terms eads EXCEPT:
» Factory burden

» Factory expenses
» Supplementary costs

» Conversion costs

Which of the following stat
method?

» The re-allocation continues until the numbers being dealt with become
very small

arding Repeated distribution

e&til the numbers being dealt with become

» They ar sed on actual data for each period
» They are predetermined in advance for each period
» None of the given options

Nelson Company has following FOH detail.

Budgeted (Rs.) Actual (Rs.)
Production Fixed overheads 36,000 39,000
Production Variable overheads 9,000 12,000
Direct labor hours 18,000 20,000
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What would be the applied rate.

» Rs.2.00 per labor hour
» Rs.2.50 per labor hour
» Rs.2.55 per labor hour
» Rs.0.50 per labor hour

Nelson Company has following FOH detail.

Budgeted (Rs.) Actual (Rs.)
Production Fixed overheads 36,000 39,000
Production Variable overheads 9,000 12,000
Direct labor hours 18,000 0,000

What would be the amount of under/over appli

» Under applied by Rs.1,000
» Over applied by Rs.1,000 .
» Under applied by Rs.11,000
» Over applied by Rs.38,000

(doubted)

idered a

Which of the following
costing system?

» To determine the cos
» To computeythe cost p
» To include separate rec
» All of the given options

jor aim of a job order

track the costs
(doubted) it is correct without any doubt

Examples i [ use process costing include all of the

At the end of th
submits a pr

counting period, a production department manager
report that shows all of the following EXCEPT:
nits in the beginning work in process

» Number of units sold

» Number of units in the ending work in process and their estimated stage
of completion

» Number of units completed

During the year 60,000 units put in to process.55, 000 units were
completed. Closing WIP were 25,000 units, 40% completed. How much the
equivalent units of output would be produced?
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» 25,000 units
» 10,000 units
» 65,000 units
» 80,000 units

If the cost per equivalent unit is Rs.1.60 the equivalent units of output are
50,000. The WIP closing stock is 10,000 units, 40% completed. What will be
the value of closing stock?

» Rs. 9,600

» Rs. 80,000

» Rs. 16,000

» Rs. 6,400 (Not Sure)

Information concerning the materials us
June follows:

Detail
WIP June

Material is charged to p hat are the materials
cost of the work in proces
» Rs. 4,000
» Rs. 4,240

> Rs. 5,333

> Rs.i4,980
EOQis the o qu

over our planning horizon.

If the cost of an i
departments thi
» Apportionment
» Allocation
» Re-apportionment
» Absorption

of overhead expenditure is shared amongst many
Id be an example of:

A company has calculated that volume variance for a given month was
favourable. This could have been caused by which of the following factors?
» The number of rejectes were lower than normal
» Machine breakdowns were lower than normal
» No delays were experienced in the issuing of material to production

20
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» All of the given options (Not Sure)

Which of the following statement measures the financial position of the
entity on particular time?

» Income Statement

» Balance Sheet

» Cash Flow Statement

» Statement of Retained Earning

Net sales = Sales less:
» Sales returns
» Sales discounts
» Sales returns & allowances a
» Sales returns & allowances and sales discounts

Assuming no returns outwards or carriage ds sold
will be equal to:
» Opening stock Less purchasesgplu
» Closing stock plus purchz*s
» Sales less gross profit

» Purchases plus closing stock plus opening stock plus direct labor

If a predetermined FOH r not appli e me of production is
reduced from the planned ity level, t er unit expected to:

» Remain unéhanged forifixe and in ed for variable cost

» Increase for fixed cost and remain unchanged for variable cost
creasedifor variable cost
ariable costs

» Fixed cost
total cost for all uni ught (or produced) divided by the number of units

The net profit or loss for a particular period of time is reported on which of
the following?

» Statement of cash flows

» Statement of changes in owner's equity

» Income statement

» Balance sheet

Question No: 10 (Marks: 1) - Please choose one
If, Sales = Rs. 1200,000
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Markup = 20% of cost
What would be the value of Gross profit?
» Rs. 200,000 (Doubted)
» Rs. 100,000
» Rs. 580,000
» Rs. 740,000

Req. info = (Given info / given %age)* % of req Info
= (12000,000/120) * 20
= 200,000

Which of the following cost is used in the calculation ost per unit?
» Total production cost
» Cost of goods available for sales

» Cost of goods manufactured
» Cost of goods Sold \
Which of the following is correct? \
» Units sold= Opening finished goods units + Units produced -
Closing finished goods units
» Units Sold = Units pro

finished goods units
» Units sold = Sales +

units - Opening

» Units sold = Sales - inventory
Which of the following met uation is not recommended
under IAS 02?

» LIFO

(Not sure)

lternative method of costing inventories under

| loss is/are charged to:
» Factory overhead control account

» Work in pro account

» Incom ent

» All of the given options

Deduction of Income Tax from gross pay of an employee is an example of:
» Statutory deductions
» Non statutory deductions
» Employer contribution towards provident fund
» Employee contribution towards provident fund
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A worker is paid Rs. 0.50 per unit and he produces 18 units in 7 hours.
Keeping in view the piece rate system, the total wages of the worker would
be:

> 18 x0.50 =Rs. 9

» 18 x 7 =Rs. 126

» 7x05=Rs.35

» 18 x7 x0.50 =Rs. 63

Under Piece Rate System wages are paid to employees on the basis of:
» Units produced
» Time saved
» Over time
» Competencies

The flux method of labor turnover denotes:*
» Workers employed under the expansio hem
» The total change in the composition of labor force

» Workers appointed against caused to discharge or
quitting of the organization
centers.

» Workers appointed in re

» The total cost of fact distributed among specific
cost centers but m@st be divid ed department/cost centers.

» The total cost of factory overhead needs to be distributed among

comp

The term Cost apportion
» The costs that can n

departments
» Each service department in turn and re-allocates its costs to all

departments'

Repeated distribution method
This method takes each service department in turn and re-allocates its costs to all departments
which benefit. The re-allocation continues until the numbers being dealt with become very small.

Which of the following statement is true ragarding Repeated distribution
method?

» The re-allocation continues until the numbers being dealt with
become very small

» The re-allocation continues until the numbers being dealt with become
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very Large
» The re-allocation continues until the numbers being dealt with become
small
» None of the given options
The re-allocation continues until the numbers being dealt with become very
small.

Which of the following is TRUE regarding Departmental Rates.
» A departmental absorption rate is a rate of absorption based upon the
particular department's overhead cost and activity level
» A departmental absorption rate is a rate of absor
particular department'soverhead cost and activity level
» A single rate of absorption used through ion’s production
facility and based upon its total production costs i
» None of the given options

not based upon the

department's
overhead cost and activity level Thi activity of each
department to be measured using

nits corresponds to

production cost of Rs, 10] tion volume of 800 units

corresponds to duction . The variable cost per unit
would be? F‘

» Rs. 5.00 per un|t (Note Sure)

> Rs. -

| 2 )
Which of the follo statements is TRUE?

» Companies that produce many different products or services are
more likely to use job- order costing systems than process costing systems
ed t0 departments and then allocated to units of product
is used
ting systems are used by service firms only and process
costing system used by manufacturing concern only

» Companies that produce many different products or services are more
likely to use process costing systems than Job order costing systems

Which of the following would be considered a major aim of a job order
costing system?

» To determine the costs of producing each job

» To compute the cost per unit

» To include separate records for each job to track the costs

» All of the given options
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Of the following production operations, which one most likely employ job
order cost accumulation?

» Soft drink manufacturing

» Ship builders

» Crude Oil refining

» Candy manufacturing

When 10,000 ending units of work-in-process are 30% completed as to
conversion, it means:
» 30% of the units are completed
» 70% of the units are completed
» Each unit has been completed to 70% of i
» Each of the units is 30% completed
not sure.

Beginning work in process was 1,200

into production, and ending work_

units were completed?
» 500 units
» 3,000 units
» 3,500 units
» 3,300 units

nal units Were put
its. How many

In a process costi
of units from Dep

> V\‘
Department

» Work in Process Department B and a credit to Work in Process
Department A
ork in Pro Department B and a credit to Materials
ini od d a credit to Work in Process Department B

Under perpetual In
» Assets
» Liabili
» Income
» Expense

tory system the Inventory is treated as:

In cost Accounting, abnormal loss is charged to:
» Factory overhead control account
» Work in process account
» Income Statement
» Entire production
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Details of the process for the last period are as follows:

Materials 5,000 Kgs at 0.50 per Kg
Labor Rs.700
Production overheads 200% of labor

Normal losses are 10% of input in the process. The out put for the period was 4,200Kg
from the process. There was no opening and closing Work- in- process. What were the
units of abnormal loss?

» 500 units

» 300 units

» 200 units

» 100 units

Material Input = = 5000 kg
Material lost = 10% of 5000 kg = 500 kg
Material out put = 4200 kg
Abnormal Loss = 5000-500-4200 = 300kg

The following data is available for the Bric

Particulars

Freightin

Purchases return and allowan

Marketing expenses

Finished goods Inventor

Cost of goods sold

Calculate the cost of goods avai
» Rs. 1,390,000
» Rs. 1,490,000

» Rs. 1,500,000

ting expenses
is 50% of cost of goods sold.

» Defective materi
» Machine breakd

» Natural

Which of the following loss is not included as part of the cost of transferred or finished
goods, but rather treated as a period cost?

» Operating loss

» Abnormal loss

» Normal loss

» Non-operating loss

In a job order cost system, the use of direct materials would be recorded as a debit to:
» Finished Goods inventory
» Manufacturing Overhead
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» Raw Materials inventory
» Work in Process inventory

Reference by Zubair Hussain.
When direct materials are requisitioned from the storeroom for use in production, they are
recorded as a debit to the Work in Process account.

Under applied FOH costs are:
» Fixed costs not allocated to units produced
» Factory overhead costs not allocated to units costs
» Excess variable factory overhead costs
» Costs that can not be controlled

een actual factory
d for actual hours

A spending variance for factory overhead is the difference
overhead cost and factory overhead cost that should have been in
worked and results from:
» Price difference of FOH costs
» Quantity differences of FOH costs
» Price and quantity differences for FOH costs \(Not Sure)
» Difference caused by production volume

Which of the following is NOT included
» Indirect Material
» Indirect Labor
» Indirect Expense
» Direct labor

Which of the following is a point of @i iati blanket rates and department
rates?
» Blanket rate i i 2 i or the entire factory
» Department rat
which the products pass
» Department rate is a d rate established for the entire factory

licable at 75% of efficiency of worker i i i
licable at 125% of efficiency of worke!vlerrICk Differential uses

three rates of wage
answer by Maryam

Khokhar

Which of the followin NOT time based incentive wage plan?

» Hasley We
» Rowan Premium Plan
» Merrick Differential Piece Rates System

In the basic EOQ model, if Units=50 per month, Ordering cost =Rs. 10, and carrying cost
=Rs. 10 per unit per month, EOQ is:

> 10

> 12

> 25

> 30 (not Sure)

Which of the following is important requirement of the effective material control?
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Maryam Khokhar
this is correct

Maryam Khokhar
Merrick Differential uses three rates of wage
answer by Maryam Khokhar


» There are proper storage facilities
» There is a proper authority that will regulate the supply of material

» The accounts should provide a running balance of the value of the materials on hand

» All of the given options

Average consumption x Emergency time is a formula for the calculation of:
» Lead time
» Re-order level
» Maximum consumption
» Danger level

The components of the conversion cost are:
» Direct Material + Direct Labor + Other Direct Cost
» Direct Labor + FOH
» Prime Cost + FOH+ Other Direct Cost
» Prime Cost + FOH

Which of the following is indirect cost?

» The hire of tools for a specific job
» The repair of machinery
» All of the given options

Which of the following are basic inv

Machine lubricant
classified as a:
» Period cost (manu
» Periodycost (Selling,

Which of the followin NOT a reason for carrying inventory?
» To maintain,i ndence of operations

e of economic purchase-order size

» To make the system less productive

» To meet variation in product demand (Not Sure)

“Taking steps for the fresh purchase of those stocks which have been exhausted and for

which requisitions are to be honored in future” is an easy explanation of:
» Over stocking
» Under stocking
» Replenishment of stock
» Acquisition of stock

Which of the following formula is used to calculate the Number of units manufactured?
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» Sold units - Units of closing finished goods inventory + Units of opening
finished goods inventory

» Sold units + Average units of finished goods inventory

» Sold units - Average units of finished goods inventory

» Sold units + Units of closing finished goods inventory - Units of opening finished
goods inventory

Under perpetual Inventory system at the end of the year:
» No closin entry passed
» Closin entry passed (Not Sure)
» Closin value find throuh closin entry only
» None of the above.

Materials requisitioned from the storeroomgi

materials and Rs. 2,000 of indirect mater

should be debited for what amount to reco
» Rs. 1,000
» Rs. 2,000
» Rs. 3,000
» Rs.0

,000 of direct
ing overhead

Which of the following would be ¢ idered ctory overhead using a

job order cost system?
» Direct materials
» Direct labor

Which t describe piece rate system?

volume of production results in decreased cost of

production
» Thei volume of production in minimum time
» Establishment of fair standard rates
» Hiher output is a result of efficient manaement

A store sells five cases of soda each day. Orderin costs are Rs. 8 per order,
and soda costs Rs. 3 per case. Orders arrive four days from the time they
are placed. Daily holdin costs are equal to 5% of the cost of the soda. What
is the EOQ for soda?

» 4 cases

» 8 cases
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» 10 cases
» 23 cases

Which of the following manufacturers is most likely to use a job order
cost accounting system?

» A soft drink producer

» A flour mill

» Tobacco manufacturin concern

» A builder of offshore oil rise

» If the time taken is greater than the ti workers in

the group receive time wages
» If the time taken is less than the time allowe
on time saved R

» If the time taken is greater than the time allowed, the workers in
the group receive time deductions for extra hours \

» Only for publicly own
» For corporations, but
» Primarily fo

Which of
volume?

None of the given options
Fixed income Financial Operations

The cost that is subject to actual payment or will be paid for in future is called:
» Fixed cost
» Step cost
» Explicit cost
» Imputed cost
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A cost that has been incurred but cannot be changed by present or future decisions is
called:

» Sunk cost

» Differential cost

» Opportunity cost

» Marginal cost
Sunk  costs are those costs which are incurred in the past.
They are called sunk because a past cost cannot be changed and decisions involve
only the present and the future

Which of the following loss is not included as part of the costiof transferred or finished
goods, but rather treated as a period cost?
» Operating loss
» Abnormal loss
» Normal loss

» Non-operating loss

In the process costing when labor is ¢ i tment no 1. What
would be the journal entry Passed?

» Payroll a/c
To W.I.P (Dept-1)

» Payroll a/c
To W.1.P (Dept-II)

» W.LP (Dept-I)
To Payroll a/c

its of production by the department
» All of the given options

Cost of finished goods inventory is calculated by:
» Deducting total cost from finished goods inventory
» Multiplying units of finished goods inventory with the cost per unit
» Dividing units of finished goods inventory with the cost per unit
» Multiplying total cost with finished goods inventory

Over which of the following is the manager of the Profit center likely to
have control?
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I. Selling process
Il. Controllable costs
[l Apportioned head office costs

V. Capital investment in the center
» |, Il and Il

» |, lland IV

» landll (Not Sure)
» [, 1, llland IV

While deducting Income Tax from the gross pay
employer acts as a (an)
» Agent of his own company
» Paid tax collection agent
» Unpaid tax collection agent
» None of the given options

ax Department.

Basic pay + bonus pay + overtime pay
» Net pay
» Gross pay
» Take home pay
» All of the given options

In a job-order cost syste
debit to:

» Finished G@eds

» Manufacturing Overhead
» Raw Materials

f the following feature?

not sure

f the employee, the

indirect la coS Id be recorded as a

The following inf ation is available for ABC Co.

Marketing e Rs. 300,000
Ending inventory of finished | Rs. 90,000
goods
The cost of goods sold 500 % of Marketing
expense
The cost of goods available for | ?
sale
» Rs. 300,000

» Rs. 1,590,000
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» Rs. 90,000
> Rs. 390,000

The Economic Order Quantity is the amount of inventory to be ordered at
one time for purpose to minimize:

» Conversion cost

» FOH cost

» Inventory cost

» Prime cost

If management decides to buy in large quantities b
means
» Higher carrying cost and lower ordering cest

cing few orders, it

Under Financial Accounting, what il i normal loss on
the overall per unit cost?
» Per unit cost remain unchanged
» Abnormal loss has no relation
» Per unit cost will inc

it cost

Consider the

Rs. 100,000
50,000 Hours
Rs. 50,000

Rs. 15,000
?

» Plant wide rate

» Departmental rate

» Over head absorption rate Not Sure
» Factory overhead rate

Budgeted factory overhead is Rs. 40,000 and budgeted variable factory
overhead Rs. 25,000 and variable rate Rs. 2.00 per hour.

Required:

Identify the amount of Budgeted Fixed Factory overhead.
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» Rs. 65,000
» Rs.15, 000 Not sure
» Rs. 20,000
» Rs. 12,500

Job Code XYZ required total cost direct labour was Rs. 3,500 and direct

labour was paid hourly @ Rs. 18. Production overhead was estimated at

rate of Rs. 15 per direct labour hour.

Required:

Identify factory overhead cost with the help of abovedata.
» Rs. 2917 Approximately
» Rs. 194 Approximately
» Rs. 233 Approximately
» Rs. 270Approximately

How costs can be accumulated in process-
» Costs can be accumulate by prod at
» Costs can be accumulated by jeb n
» Costs can be accumulated by departmen
» All of the given options

Which of the given cost i Production Report to

calculate total cost?
» Material cost
» Labour cos
» Factory ove d cost

Department g Company transferred 18,000 units to
next i terial, Labour and FOH is Rs. 2.00, Rs.

» Rs. 90,000
» Rs. 171,000

If a company uses a predetermined rate for the application of factory overhead,
the idle capacity variance is the:

» Difference of absorbed factory overhead and budgeted factory overhead
for capacity attained

» Over or under applied variable cost element of overheads

» Difference in budgeted costs and actual costs of fixed overheads items

» Difference in budgeted cost and actual costs of variable overheads items

Budget variance is the difference between budgeted factory overhead for capacity

attained and sactual factory overhead incurred. It represents either over-spending or
under-spending.
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Identify the FOH rate on the basis of machine hour?

Budgeted production overheads Rs.280,000
actual machine hours 70,000 hours
Actual production overheads Rs.295,000
PERSE00 Estimated FOH/ Direct Labor hours 280000/70000=4.00
» Rs. 4.08s
» Rs. 4.210
» Rs. 4.35

Overhead absorption rate (OAR) can be calculated as:
» Direct labor cost /Direct Labor hours
» Estimated FOH/ Direct Labor hours
» Prime cost/ Estimated FOH
» Prime cost/ Direct labor cost

Cost of incoming freight on merc a retail chain
would be considered by that mer
» Prime costs

» Period costs
» None of the given optio

Finished goods inve
» Currently being

goods that are:

» Cash inflow and outflow analysis
» All of the given options

If, COGS = Rs. 50,000
GP Margin = 25% of sales
What will be the value of Sales?
» Rs. 200,000
» Rs. 66,667
» Rs. 62,500
» Rs. 400,000

Which of the following would be the effect, if inventory is not properly measured?

35
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



» Expenses and revenues cannot be properly matched
» Unfair position in Financial Statements

» Inventory items show under or over stocking

» All of the given options

If EOQ = 360 units, order costs are Rs. 5 per order, and carrying costs are Rs. 0.20
per unit, what is the usage in units?

» 2,592 units

» 25,920 units

» 18,720 units

» 129,600 units
Which of the following is a reason for the overtimegdg be incurre
» Make up for lost time
» Produce more of the product than anticipat
P Increase efficiency of the workers  _
» Both for make up of lost time and produced more product than anticipated

Actual (Rs.)

Production Fixed over 39,000
ProductionMariable over 12.000
Direct labor S 20,000

What weuld be thea

unting period, a production department manager submits a
shows all of the following EXCEPT:

» Number of units in the beginning work in process

» Number of units sold

» Number of units in the ending work in process and their estimated stage of
completion

» Number of units completed

LG has incurred cost of Rs. 60,000 for material. Further it incurred Rs. 35,000 for
labor and Rs. 70,000 for factory overhead. There was no beginning and ending work
in process. 7,500 units were completed and transferred out. What would be the unit
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cost for material?
» Rs. 22
» Rs. 16
» Rs. 14
» Rs. 8

A company applied overheads on machine hours which were budgeted at 11,250
with overhead of Rs.258, 750.Actual results were 10,980 hours with overheads of
Rs.254, 692. Overhead were?
» Over applied by Rs.4, 058
» Under applied by Rs.2, 152
» Under applied by Rs.4, 058
» Over applied by Rs.2, 152

if actual factory overhead is less than the budgeted i avor: t variance.

Which of the given cost does not become t rt
» Advertising expenses
» Direct labor cost

» Factory overhead cost

» Cost of raw material

Imputed cost is also called
» Explicit cost
» Implicit cost
» Firm cost
» Period cost

The journal urc on credit under perpetual inventory system
account (Cr)

Is:
ccount payab r.) Purchases account (Cr)

» Inventory account (Dr) Account payable account (Cr)

» Purchases ac t (‘Accounts payable account (Cr)

The annual deman a stock item is 2,500 units. The cost of placing an order is
Rs. 80 and th ding an item in stock is for one year is Rs. 15.
Required: What'is the EOQ?

IGEIEIES sure EOQ=2%2500%80/1%15 = 163

» 1250 units

» 5,000 units

» 160 units

Working hours of labor can be calculated with the help of all EXCEPT:
» Smart card
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» Time sheet
» Store card
» Clock card

Inventory of Rs. 96,000 was purchased during the year. The cost of goods sold was Rs.
90,000 and the ending inventory was Rs. 18,000. What was the inventory turnover ratio
for the year?

» 5.0 times

» 5.3 times

» 6.0 times

» 6.4 times

Gross pay + =Effective wage rate
» Actual hours worked
» Time allowed
» Time saved
» None of the given options

Which of the given statement is CO overhea t?
P It is direct production cost.
P It is prime cost.
P It is conversion cost. g,
» It is an indirect production cost.
Factory overhead cost include
and other direct cos@it i

t direct material, direct labor

Depreciation of buil ple of factory overhead which is
apportione the basis
» Capitalivalue

> Departmental p
P Area in square feet or cubic feet
umber of wo

Budge
overhead Rs. 30,000
Required:

head is Rs. 40,000 and budgeted variable factory
variable rate Rs. 8.00 per hour.

Budgeted Factory overhead.

» Rs. 5,000
PERSNO000 total budgeted FOH including variable and fixed FOH
» Rs. 3,750

Cost of production report summarizes data of:
» Quantities produced by producing department only
» Cost incurred by producing department only
» Quality of purchased units only
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» Quantities produced and Cost incurred by producing department

Production process may result into spoiled or lost units. This lost unit may result
into which of the following category/categories?

» Normal loss

» Abnormal loss

» Unavoidable loss

» All of the given options

It is assumed that Rs. 1,000 incurred to produce 100 uni

came to know that 10 units were lost. Then Rs. 1,000 will b
» 10 units
» 100 units
» 90 unitss
» 110 units

but after inspection it
ead over:

Which of the following best describes the n\pfa ring co
» Direct materials, direct labor and factory overhead
» Direct materials and direct lab

Which of the following loss I I ocess and represents a
necessary cost of processing t
» Operating lo
» Abnormal los

From here, MCQs are not verified

Question No: 18 (Marks: 1) - Please choose one
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The FIFO inventory costing method (when using a perpetual inventory system) assumes
that the cost of the earliest units purchased is allocated in which of the following ways?
» First to be allocated to the ending inventory
» Last to be allocated to the cost of goods sold
P Last to be allocated to the ending inventory
» First to be allocated to the cost of good sold

Question No: 19 (Marks: 1) - Please choose one

Which of the following is NOT an assumption of the basic economic-order gquantity
model?

» Annual demand is known

» Ordering cost is known

» Carrying cost is known

» Quantity discounts are available sure

Question No: 20 (Marks: 1) - Please choose

Which of the following is NOT reason of ab al

» Defective material used
» Machine breakdown
» Poor workmanships
» Natural disaster

Complete the followingita increases above the normal level:
i Total

Constant
2

Decrease

» Increase, Decrease

Question No: Mrks: 1) - Please choose one

You are required to calculate number of units sold of ABC Fans Company for the first
quarter of the year with the help of given information.

Inventory opening

Finished goods (100 fans) Rs. 43000
Direct material Rs. 268000
Inventory closing

Finished goods (200 fans) Not known
Direct material Rs. 167000
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| No of units manufactured \ 567 units
http://vustudents.ning.com
» 300 units
» 767 units
» 467 units
» 667 units

Question No: 23 (Marks: 1) - Please choose one

Given data that:

Work in Process Opening Inventory Rs. 20,000

Work in Process Closing Inventory 10,000
Finished goods Opening Inventory 30,0
Finished goods Closing Inventory 50,000
Cost of goods sold 190,000

What will be the value of cost of goods manu re

» Rs. 200,000
» Rs. 210,000
» Rs. 220,000
» Rs. 240,000
Cost of Goods Manufacture
Total factory Cost
Add Opening Wor
Cost of goods to be

choose one

idable loss48 charged to which of the following?

» Factory over head control account
» Work i control accounts
» Marketing overhead control account
» Administration overhead control account
This is normal loss and charged to FOH ACCOUNT

Question No: 25 (Marks: 1) - Please choose one

Payroll includes:
» Salaries & Wages of direct labor
» Salaries & Wages of Indirect labor
P Salaries & Wages of Administrative staff
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» Salaries & Wages of direct labor, Indirect labor, and Administrative & Selling
Staff

Question No: 26 (Marks: 1) - Please choose one

Which of the given statement is CORRECT for Indirect Labor?

» It is charged to factory over head account

P It is charged to work in process

» It is entire production

P It is charged to administrative expenses
Factory overhead cost includes all production costs e i ial, direct labor

Question No: 27 (Marks: 1) -Pleasec

A production worker paid salary of Rs. Rs. 5 for each unit

produced during the month. This lab

» A fixed cost
» A variable cost
» A semi variable cost
P> A step fixed cost
Semi Variable
It is also known as m
in fact the mixture of b

Examples ude: Utili
consumed.

Salesman’s salary — there is a fixed monthly salary plus commission per units sold.

Que ; s:1) - Please choose one

with the help of given data:

ct labour hours 50,000 Hours
plied FOH Rs. 5,000

pplied FOH Rs. 15,000
ead absorption rate Rs. 5.00/hour
» Rs. 25,000
» Rs. 50,000
» Rs. 75,000
» Rs. 250,000

Estimated FOH per point= Total FOH/Total point = Rs. 360.000/300.000 point

Question No: 29 (Marks: 1) - Please choose one

In which of the situation spending variance will give unfavorable result?
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http://vustudents.ning.com
» Actual factory overhead is less than absorbed factory overhead
» Actual factory overhead is greater than absorbed factory overhead
» Budgeted factory overhead for actual volume is less than actual factory overhead
» Absorbed factory overhead less than budgeted factory overhead for actual volume

Question No: 30 (Marks: 1) - Please choose one

All the given statements regarding job cost sheets are incorrect EXCEPT:

» Job cost sheet shows only direct materials cost
P Job cost sheet must show the selling costs asso
» Job cost sheet must show the administrativ

that speci
c with a
sts ciat cific job

costs associated with a specific job -

Question No: 31  (Marks: 1)

In process costing, each producing

» Cost unit
» Cost centre
» Investment centr

lease choose one

port, cost accounted for as follows is also known

» Cost reconciliation
» Bank re‘ion
» Cash reconciliation

» Capital reconciliation

Question No: 33 (Marks: 1) - Please choose one

Identify units transferred out with the help of given data:

Units
Units still in process  (100%material, 75% conversion ) 4,000
Lost units 2,000
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| Units started in process | 50,000 |

» 6,000 units

» 52,000 units
» 56,000 units

Question No: 34 (Marks: 1) - Please choose one

Details of the process for the last period are as follows:

Put into process 5,000 kg

Materials Rs. 2,500

Labor Rs.700

Production overheads 200% of labor
Normal losses are 10% of input in the process: eriod was 4,200 Kg
from the process. There was no openi i s. What were the

units of abnormal loss?

» 500 units

P 300 units not sure

» 200 units
» 100 units
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1). Fixed cost per unit decreases when:

a. Production volume increases.
b. Production volume decreases.
c. Variable cost per unit decreases.
d. Variable cost per unit increases.

2). Prime cost + Factory overhead cost is:

Conversion cost.
Production cost.
Total cost.

None of given option.

a0

3). Find the value of purchases if
and closing stock of raw material i

90,000; Opening

Rs. 10,000
Rs. 20,000
Rs. 70,000

e op

GP Mar

d. Rs. 10,000

5). ﬂ ’hod assumes that the goods received most recently in the
stores or pro ecently are the first ones to be delivered to the requisitioning

department.
a. FIFO
b. Weighted average method
C. Most recent price method
d. LIFO

1. Cost of production report is a
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a. Financial statement
b. Production process report
c. Order sheet
d. None of given option.
2. There are parts of cost of production report.
a. 4
b. 5
c. 6 (6this concerned with calculation of loss)
d. 7

3. Which one of the organization follows ithe
?

ion report

Textile unit

Chartered accountant fir
Poultry forming

None of the given option.

e o

4. cost of n report explains the cost

a
b. Cosflaccounted fo
c
d

. Cost charge to the de;val't{n
. on

7. If units put in the process 7,000, units completed and
ill in process (100% Material, 50% Conversion cost).
curred during the process Material and Labor Rs.

=l

a. 5,750
b. 7,000
c. 5,000
d. 6,500

6. Find the value of per unit cost of both material and conversion cost
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Maryam Khokhar
numerical question 


e o

Material 7.69; Conversion cost 10.43
Material 7.14; Conversion cost 10.43
Material 7.14; Conversion cost 9.23
None of given option

7. Find the value of cost transferred to next department:

o oo

8. In case of second department find the
lost. Cost received from previous

a.
b.
C.
d

10

a.
b.
C.
d.

1. Jan 1; finished goods inventory of Manuel Company was $3, 00,000. During
the year Manuel’s cost of goods sold was $19, 00,000, sales were $2, 000,000
with a 20% gross profit. Calculate cost assigned to the December 31; finished
goods inventory.

a. 143
b.

c. 1.54
d. 1.67

Rs. 57,500
Rs. 50,000
Rs. 70,000
None of given option.

(2.13)

ec ated under

None of the given option

a. $4,00,000
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b. $6,00,000
c. $16,00,000
d. None of given options

The main purpose of cost accounting is to:

Maximize profits.

Help in inventory valuation

Provide information to management for decision making
Aid in the fixation of selling price

pp op

The combination of direct material and direct labor is

Total production Cost
Prime Cost

Conversion Cost

Total manufacturing Cost

a0

The cost expended in the pa duct or service
a. Relevant Cost
b. Sunk Cost

c. ProductCost
d

equires mostly human labor and there are
g workers, what is probably the most
y costs to work in process?

Direct labor hours
Direct labor ars

A typical overhead cost is:

distribution

internal audit

compensation of plant manager
design

apne e

An industry that would most likely use process costing procedures is:

48
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



tires

home construction
printing

aircraft

an o

e.
8. Complete the following table

Per unit Total
Fixed cost Increase Constant
Variable cost
Total cost Increase Decrea

a. Constant, Decrease

b. Decrease, Decrease

c. Increase, Increase

d. Increase, Decrease
9. The Kennedy Corporation uses Ra i a manufacturing process.
Information as to balances isitions of Raw Material
Z is given below:
Jan. S. @ $1.50

08 ceived 500 Ibs. @ $1.55

Issued 100 Ibs.
260 Ibs.
Ibs. @ $1.60

aw Material Z is maintained on a FIFO basis,
it wi inventory of:

10. A disadv of an hourly wage plan is that it:

a. Provides no incentive for employees to achieve and maintain a high
level of production.

b. 1Is hardly ever used and is difficult to apply.

c. Establishes a definite rate per hour for each employee.

d. Encourages employees to sacrifice quality in order to maximize
earnings.
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Find out correct option from given MCQs & put your answer in above table:

1. A manufacturing company manufactures a product which passes through
two

departments. 10,000 units were put in process. 9,400 units were completed &
transferred to department-II. 400 units (1/2 complete) were in process at the
end of

month. Remaining 200 units were lost during processing. Costs incurred by
the

department were as follows:

Particulars Rs.

Direct Materials 19,400
Direct Labor 24,250
Factory overhead 14,550
Apportionment of the Accumu d for, for the
month in CPR

a. Rs. 24,250 Approximatel
b. Rs. 56,987 Approximately
c. Rs. 58,200 Approximately

MCQ #2a wing data:

ed the following production data for its

tment -1 55,000
ment -3 39,500
& overhead) 10,500

Received in from de
Transferred out de
In process (1

All materials were put in process in Department No. 1. Costing department
collected following figures for department No. 2: Particulars Rs.

Unit cost received in 1.80, Labor cost in department No.2 27,520.

Applied overhead in Department No. 2 15,480

2. Equivalent units of labor & FOH are
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am o

MCQ # 4, 5 and 6 are based on the following

In Department No. 315 normal product
process. During January 2007 followingcos

Particulars Rs.
Direct Materials 30,000
Direct Labor 20,000
Manufacturing overhead 1
Cost from precedi

a.

b.

C.

d.

5.

. Rs.0.36

an o W

. None of the given options

3,500 units

. 39,500 units

43,000 units

. None of the given options

Unit cost of lost unit after adjustment (by using any method)
Rs. 0.64

Rs. 0.18

departm

artment No. 315 were completed 50%.

(where normal loss is discovered at the end of process)
Rs. 14,000

Rs. 44,000

Rs. 1, 12,000

None of the given options

Equivalent units of material
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2,000 units

7,000 units

10,000 units

. None of the given options

e o

Unit cost of Direct Labor
Rs. 1
. Rs.2
Rs. 3
. None of the given options

Qan g

7. During January, Assembling department received 00 units from
preceding department at a unit cost of Rs. 3.54.

department were:

Particulars Rs.

Materials 41,650

Labor 101,700

Factory overheads 56,500

There was no work in proc eginning 1 tory.

Particulars Units

b. 56,500 unit
c. 59,500 units
d. None of the given options

8. For which one of the following industry would you recommend a Job Order
Costing system?

a. Oil Refining
b. Grain dealing
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c. Beverage production
d. Law Cases

9. For which one of the following industry would you recommend a Process
Costing system?

a. Grain dealer

b. Television repair shop
c. Law office

d. Auditor

10. The difference between total revenues and total variable'¢osts is known as:
a. Contribution margin

b. Gross margin

c. Operating income

d. Fixed costs

11. Percentage of Margin of hich one of the
following ways?

a. Based on budgeted Sales
b. Using budget profit

c. Using profit & Contributio
d. All of the given options

a. Sal i .) ¥ Fixed expenses + Profits
i + Fixed expenses + Profits
c. Sales = Variable expenses + Fixed expenses + profits

d. Sales,= xlxes - Fixed expenses + profits

13. If 120 units produced, 100 units were sold @ Rs. 200 per unit. Variable cost
related to production & selling is Rs. 150 per unit and fixed cost is Rs. 5,000. If the
management wants to decrease sales price by 10%, what will be the effect of
decreasing unit sales price on profitability of company? (Cost & volume profit
analysis keep in your mind while solving it)
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a. Remains constant

b. Profits will increased

c¢. Company will have to face losses
d. None of the given options

14. If 120 units produced, 100 units were sold @ Rs. 200 per unit. Variable cost
related to production & selling is Rs. 150 per unit and fixed cost is Rs. 5,000. If the
management wants to increase sales price by 10%, what will be increasing sales
profit of company by increasing unit sales price. (Cost & volume profit analysis
keep in your mind while solving it)

a. Rs.2,000
b. Rs. 5,000
c. Rs. 7,000
d. None of the given options

MCQ #15,16,17 and 18 are bas
The following is the Corporation's In

Particulars Rs.
Sales 4,000,000
Less: variable exp
Contribution margin
Less: fixe

15. Wh
a. 30%
b. 70%
c. 150%
d. None of given options

16. What is the company's break-even in units?

a. 48,000 units
b. 72,000 units
c. 80,000 units
d. None of the given options
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17. How many units would the company have to sell to attain target profits of
Rs. 600,000?

a. 88,000 units

b. 100,000 units

c. 106,668 units

d. None of given options

18. What is the company's margin of safety in Rs?

a. Rs. 480,000

b. Rs. 1,600,000

c. Rs. 2,400,000

d. None of given options

19. Which of the following statement(s)

department rather than by j
c. The output of a processin
process costing g

d. All of the given options

20. Which éf.the follow

a. Companies that produce many different products or services are more likely
to use job-order costing systems than process costing systems

ems are used by manufactures only and process costing
firms only

s are used by service firms and process costing

21. Product cost is normally:

a. Higher in Absorption costing than Marginal costing
b. Higher in Marginal costing than Absorption costing
c. Equal in both Absorption and Marginal costing

d. None of the given options

22. Using absorption costing, unit cost of product includes which of the
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following combination of costs?

a. Direct materials, direct labor and fixed overhead

b. Direct materials, direct labor and variable overhead

c. Direct materials, direct labor, variable overhead and fixed overhead
d. Only direct materials and direct labor

23. Marginal costing is also known as:

a. Indirect costing
b. Direct costing

c. Variable costing
d. Both (b) and (c)

MCQ # 24 & 25 are based on the following da

The following data related to prod no

Units produced 1,000 units
Direct materials Rs.6
Direct labor Rs.10
Fixed overhead Rs.6000
Variable overhea
Fixed selling and a

25. Using the data given above, what will be the unit product cost under
marginal costing?

a. Rs.22
b. Rs. 24
c. Rs. 28
d. None of the given options

26. The break-even point is the point where:

56
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



a. Total sales revenue equals total expenses (variable and fixed)
b. Total contribution margin equals total fixed expenses

c. Total sales revenue equals to variable expenses only
d. Botha &b

27. The break-even point in units is calculated using

a. Fixed expenses and the contribution margin ratio
b. Variable expenses and the contribution margin ratio
c. Fixed expenses and the unit contribution margin
d. Variable expenses and the unit contribution i

28. The margin of safety can be defined as:

a. The excess of budgeted or actual or actual variable

expenses

b. The excess of budgeted or actg& over or actualifixed expenses
c. The excess of budgeted sales over the break-even volume of sales

d. The excess of budgeted net income actual netiimcome

29. The contributi
formula?

margin 2 sing which one of the given

a. (Sales - Bixed Expens

b. (Sales - Variable Expenses)/Sales
C.

d.

is given below
Particu s.
Sales 15,00,000
Variable cost_9,0

Break Even Sales in Rs.

a. Rs. 1, 00,000

b. Rs. 2, 00,000

c. Rs. 13, 00,000

d. None of the given options

1. Mr. Zahid received Rs. 100,000 at the time of retirement. He has invested in a
profitable Avenue. From Company A, he received the dividend of 35% and
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from Company B he received the dividend of 25%. He has selected Company
A for investment. His opportunity cost will be:

a) 35,000
b) 25,000
c) 10,000
d) 55,000

. In increasing production volume situation, the behavior of Fixed cost &
Variable cost will be:

a) Increases, constant
b) Constant, increases
¢) Increases, decreases
d) Decreases, increases

. While calculating the finished
formula to calculate per unit

a) Cost of goods sold / number of
b) Cost of goods to be rhfactured
¢) Cost of goods manufactured / number of units manufactured

ber of u'anufactured

40% of conversion cost. What will

g centers is responsible to earns sales revenue?

b) Investm
¢) Revenue center
d) Profit center

. Which one of the following cost would not be termed as Product Costs?
a) Indirect Material

b) Direct Labor
¢) Administrative Salaries
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d) Plant supervisor’s Salary

7. Which of the following ratios expressed that how many times the inventory is
turning over towards the cost of goods sold?

a) Inventory backup ratio
b) Inventory turnover ratio
c) Inventory holding period
d) Both A & B

8. When opening and closing inventories are compared,
more than opening inventory, it means that:

ding inventory is

a) Increase in inventory

b) Decrease in inventory

c¢) Bothaandb

d) None of the given options
des which one of

9. The total labor cost incurred ufacturi

the following elements?

a) Direct labor cost
b) Indirect labex cost
c) Abnormal lxcost

d) All of the given options

1,000 units
7,000 units

500 units
Material consumed Rs. 7,500

What will be the inventory turnover ratio?

a) 10 Times
b) 12 times

c) 14.5 times
d) 9.5 times
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Cost & Management Accounting (mgt402) Solution to Quiz 02
Special Semester 2007

(Total Marls 1 x 15 = 15)
Find out correct option from given MCQs & put your answer in above table:

1. A manufacturing company manufactures a produc
two

hich passes through

departments. 10,000 units were put in process. 9,400 units w ompleted &
transferred to department-II. 400 units (1/2 co rocess at the
end of

month. Remaining 200 units were lost_duri rocessi rred by
the

department were as follows:

Particulars Rs.

Direct Materials 19,400
Direct Labor 24,250
Factory overhead 14,550

aterial,

Equivalent units o

MCQ # 2 and 3 are based on the following data:

-w Q
Allied chemical ¢ any reported the following production data for its
department:

Particulars Units

Received in from department -1 55,000
Transferred out department -3 39,500

In process (1/3 labor & overhead) 10,500

All materials were put in process in Department No. 1. Costing department
collected
following figures for department No. 2:
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Particulars Rs.

Unit cost received in 1.80

Labor cost in department No.2 27,520
Applied overhead in Department No. 2 15,480

2. Equivalent units of Material are
a. 3,500 units

b. 39,500 units

c. 43,000 units

d. None of the given options Cost & Management ounting (mgt402)
Solution to Quiz 02
Special Semester 2007
3. Unit cost used for transferred out
a. Rs. 0.64
b. Rs. 0.36
c
d

. Rs.0.18
. None of the given options

4. During January, Assembling ived 60,000 units from
preceding department at it cost of dded in the assembly
department were:

Particulars Rs.
Materials 41,650
Labor 101

epartment 60,000
0,000
end of month

Units transferred o
Units in proc
(all materials,

9,000
Units lost (1/2 completed as to materials & conversion cost ) 1,000

The entire loss is considered abnormal & is to be charged to factory overhead.
Cost transferred to next department

a. Rs. 55,703.3 App.
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b. Rs. 356,546.6 App.
c. Rs.412,249.9 App.
d. None of the given options

MCQ #5, 6,7 and 8 are based on the following data:

The following is the Corporation's Income Statement for last month:

Particulars Rs.

Sales 4,000,000

Less: variable expenses 1,800,000

Contribution margin 2,200,000 \
Less: fixed expenses 720,000 L\

Net income 1480,000Cost & Management Accountmg (mgt402)
Solution to Quiz 02

Special Semester 2007 ’

The company has no beginnin%)r ending inventories. A total of 80,000 units

were o
produced and sold last month.

a0

o

's break-even in units?

a.
b. 72,000 units
c. 80,000 units
d. None of the given options

7. How many units would the company have to sell to attain target profits of
Rs.600,000?

a. 48,000 units
b. 88,000 units
c. 106,668 units
d. None of given options
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8. What is the company's margin of safety in Rs?

a. Rs. 1,600,000
b. Rs. 2,400,000
c. Rs. 25,60,000
d. None of given options

MCQ # 9 & 10 are based on the following data:

The following data related to production of AB

Units produced 2,000 units
Direct materials Rs.6
Direct labor Rs.10

Fixed overhead Rs.20,000
Variable overhead Rs.6 Cost
Solution to Quiz 02
Special Semester 2007
Fixed selling and administra

t Accounting (mgt402)

hat will be the unit product cost under
absorption

costi%

10. Using th iven above, what will be the unit product cost under
marginal
costing?

a. Rs.22
b. Rs. 24
c. Rs. 28
d. None of the given options
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11.

12.

13.

14.

16.

Mr. Zahid received Rs. 100,000 at the time of retirement. He has invested in
a profitable Avenue. From Company A, he received the dividend of 35%
and from Company B he received the dividend of 25%. He has selected
Company A for investment. His opportunity cost will be:

a) 35,000
b) 25,000
c) 10,000
d) 55,000
In increasing production volume situation, the b
Variable cost will be:

vior of Fixed cost &

e) Increases, constant

f) Constant, increases
g) Increases, decreases
h) Decreases, increases
While calculating the finished
formula to calculate per unit

at would be the

e) Cost of goods sold / number o
f) Cost of goods to be Manufactured manufactured
g) Cost of goods manufactured / number of units manufactured

h) Total manufacturing c ber of u anufactured

1s 40% of conversion cost. What

.Wh ing centers is responsible to earns sales revenue?

e) Cost center
f) Investment
g) Revenue center

h) Profit center

While preparing the Cost of Goods Sold and Income Statement, the over
applied FOH is;

e) Add back, subtracted

f) Subtracted, add back

g) Add back, add back

h) Subtracted, subtracted

17. Which of the following ratios expressed that how many times the inventory

is turning over towards the cost of goods sold?
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e) Net profit ratio

f) Gross profit ratio

g) Inventory turnover ratio
h) Inventory holding period

18. When opening and closing inventories are compared, if ending inventory is

more than opening inventory, it means that:

e) Increase in inventory
f) Decrease in inventory
g) Bothaandb
h) None of the given options

19. The total labor cost incurred by a manufact
of the following elements:

e) Direct labor cost

f) Indirect labor cost

g) Abnormal labor cost

h) All of the given options

20. If,

Opening stock
Material Purchase
Closing Stock
Material consume

goods = 2,000
d goods =1,500

2. Calculate the amount of direct labor if:
Direct material = 15,000
Direct labor = 70% of prime cost

Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED

udes which one

65



6,429

30,000
10,500
35,000

o oo

3. Material cost = 4.00 per unit
Labor cost = 0.60 per unit
Factory overhead cost = 1.00 per unit
Administrative cost =1.20 per unit
Selling cost = 15% of sales
Profit = 1.02 per unit
What will be the sales price per unit?

a. 6.0
b. 9.2
c. 7.0
d. None of the given optio

4. ABC & Company has maintaine ata of inventory control

old. Calculate the cost of ending inventory

5. National chains of tyre fitters stock a popular tyre for which the following
information is available:

Average usage = 140 tyres per day
Minimum usage = 90 tyres per day
Maximum usage = 175 tyres per day
Lead time =10 to 16 days
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Re-order quantity = 3000 tyres
Based on the above data calculate the maximum level of stock possible:

2800
3000
4900
5800

e op

Fill in the blanks:

1. Irrelevant costs are those costs that would n ffect the current

management decision.

2. Increase in inventory means closing in e opening
inventory.

3. Weighted average cost is auf@d t
consumption and ending inventory.

2. A compan he following cost data for the month:
Conversion cost: Rs. 78,900

Prime Cost: Rs. 115,700

Beginning Work in Process Inventory: Rs. 4,700

Ending Work in Process Inventory: Rs. 2,800

Beginning Finished Goods Inventory: Rs. 27,600

Ending Finished Goods Inventory: Rs. 29,200
Manufacturing Overhead Costs: Rs. 14,500
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What is the Cost of Goods Sold for the month?

a) Rs. 132,100
b) Rs. 116,000
c) Rs. 130,200
d) Rs. 130,500

3. is a part of cost of production report that explains

the cost incurred during the process.

a) Quantity schedule

b) Cost accounted for as follow

c) Cost charged to the department
d) None of the given options

4. Under Absorption Costing, Fixed Manufacturing
a) Absorbed into Cost units
b) Charged to the Profit and Los
c) Treated as period cost
d) All of the given options

Rs.3.25 per uni
unit. Fixed ma

¢) Rs. 6.60
d) Rs.6.23

Question 6 to 8 will be based on the data given below:

Units put in the process 7,000

Units completed and transferred out 5,000

Units still in process (100% Material, 50% Conversion cost)

500 units were lost during process

Cost incurred during the process Material and Labor Rs. 50,000 and Rs. 60,000.
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6. By using the above information, find out the number of units that will
appear in quantity schedule.

a) 5,750
b) 7,000
c) 5,000
d) 6,500

7. Find out the value of per unit cost of both material and conversion cost.

a) Material 7.69; Conversion cost 10.43
b) Material 7.14; Conversion cost 10.43

¢) Material 7.14; Conversion cost 9.23
d) None of the given options

8. Find the value of cost transferred to

a) Rs. 5750
b) Rs. 5000
c) Rs. 7000

d) Rs. 6500 or None of the given options
9. Opening work in process,inventory
following method?

d under which of the

10. processing to improve its marketability.

1) The contri margin increases when sales volume and price remain
the same and:

a) Variable cost per unit decreases
b) Variable cost per unit increases
c) Fixed costs per unit increase

d) All of the given options

2) The main difference between the incremental and marginal cost is that:

69
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



a) The marginal cost changes for every next unit of production

b) Incremental cost does not show any change for any level of activity
c) The marginal cost changes for a certain level of activity

d) There is no difference between marginal cost and incremental cost

3) An example of an inventoriable cost would be:

a) Shipping fees

b) Advertising flyers
c) Sales commissions
d) Direct materials

4) Service entities provide services of their, customers.

a) Tangible products

b) Intangible products
c) Both tangible and intangible p
d) Services can not be intangibl

5) T Corp. had net income
2,000,000. If it is in the 50%

,000. Direct labor cost is Rs. 60,000.
0,000. Beginning goods in process were Rs.
anufactured is Rs. 245,000. What is the cost
s in process?

a) Rs. 45,000
b) Rs. 15,000
c) Rs. 30,000
d) There will be no ending Inventory

7) A firm had Rs. 200,000 in sales, Rs. 120,000 of goods available for sale,
an ending finished goods inventory of Rs. 20,000. Selling and
Administrative expenses are Rs. 55,000. Which of the following is true?

a) Net income was 22.5% of sales
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b) The cost of goods sold was Rs. 100,000
c) The gross profit was Rs. 100,000
d) All of the given options

8) A complete set of Financial Statements for Hanery Company, at
December 31, 1999, would include each of the following, EXCEPT:

a) Balance sheet as of December 31, 1999

b) Income statement for the year ended December 31, 19
c) Statement of projected cash flows for 2000
d) Notes containing additional information that i in i reting the
Financial Statements

inventory system) assumes that the cost
is allocated in which of the followi

a) First to be allocated to the en

b) Last to be allocated to the cost of go
c) Last to be allocated to th&lending inve
d) First to be allocated to the cost of good sold

se inventory of Rs. 75,000.
d sales of Rs. 220,000

during No . ss profit on sales was 30%. On

d by fire. What was the value of the

aims at:

a) Achieving optimization

b) Ensuring against market fluctuations

c) Acceptable customer service at low capital investment
d) Discounts allowed in bulk purchase

12) Which of the following is a factor that should be taken into account for

fixing re-order level?
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a) Average consumption

b) Economic Order Quantity
c) Emergency lead time

d) Danger level

13) EOQ is a point where:

a) Ordering cost is equal to carrying cost

b) Ordering cost is higher than carrying cost

c) Ordering cost is lesser than the carrying cost
d) Total cost should be maximum

14) Inventory of Rs. 96,000 was purchased du
goods sold was Rs. 90,000 and the ending i
What was the inventory turnover ratio

a)5.0
b) 5.3
c) 6.0
d) 6.4

15) While deducti
employer acts as a

a) Agent ofghis own Co
b) Paid tax ction

Income the gro

for

of the employee, the
me Tax Department.

16) A i to the employee when he completed his job:

a) In time less than the standard
b) In standard ti
¢) In time mo standard

d) Both In standard time or more than the standard time

17) Reduction of labor turnover, accidents, spoilage, waste and
absenteeism are the results of which of the following wage plan?

a) Piece rate plan

b) Time rate plan
c) Differential plan
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d) Group bonus system

18) Grumpy & Dopey Ltd estimated that during the year 75,000 machine
hours would be used and it has been using an overhead absorption rate
of Rs. 6.40 per machine hour in its machining department. During the
year the overhead expenditure amounted to Rs. 472,560 and 72,600
machine hours were used. Which one of the following statements is
correct?

a) Overhead was under-absorbed by Rs.7,440
b) Overhead was under-absorbed by Rs.7,920
c) Overhead was over-absorbed by Rs.7,440
d) Overhead was over-absorbed by Rs.7,920

19) When loss of time due to unavoidable int
theoretical capacity the remainder is:

ptio

a) Normal capacity

b) Practical capacity

c) Expected capacity

d) All of the given options

r hours. In the 8th
ds were Rs. 279,000
e overhead absorption rate

period, 18,000 hou
and there was Rs. 3
per hours was:

) Rs. 1560
b) Rs. 17.50
c) Rs.18.00

d) Rs¥18.5

1) If computational and record-keeping costs are about the same under
both FIFO and weighted average, which of the following method will
generally be preferred?

a) Weighted Average

b) FIFO

c) They offer the same degree of information

d) Cannot be determined with so little information
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2) Which of the following is the best definition of a by-product?

a) A by-product is a product arising from a process where the wastage rate is
higher than a defined level

b) A by-product is a product arising from a process where the sales

value is insignificant by comparison with that of the main product or
products

c) A by-product is a product arising from a process where the wastage rate is
unpredictable

d) A by-product is a product arising from a process whe

he sales value is

factor that determine whether the products a
main product and one is by product is the:

a) Potential marketability for each p
b) Amount of work expended in ducti
c) Relative total sales value of each product
d) Management policy

4) Good Job Plc makes one i . 80 per unit. Fixed
costs are Rs. 28,00
What sales level i i i i s. 10,000?

a) 350 unit
b) 667 units
¢) 1,000 units
d)1, nits

oduces sprockets that are used in wheels. Each
the company sells approximately 400,000
nit cost data for the year follows:

Direct material Rs. 15
Direct labor Rs. 10
Other costs:
Manufacturing
Distribution

Fixed

Rs. 5

Rs. 4
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Variable
Rs. 7
Rs. 3

The unit cost of sprockets for direct cost inventory purposes is:

a. Rs. 44
b. Rs. 37
c. Rs. 32
d. Rs. 35

6) Janet sells a product for Rs.6.25. The variabl
break-even units are 35,000. What is the amount

a) Rs. 87,500
b) Rs. 35,000
c) Rs.131,250
d) Rs. 104,750

The product sells for Rs. 3
production are Rs. 15,000 p
boats each month

a) 20%
b) 35%
c) 54%
d) 57%

e of the requirements of the general

sting costs must be clearly defined
b. Changes are not to be made just because more favorable results are

foreseeable

c. Accountabilit ctual results must be enforced

d. Goals mus istic and possible to attain

9) If B Limited shows required production of 120 cases of product for the

month, direct labor per case is 3 hours at Rs. 12 per hour. Budgeted
labor costs for the month should be:

a) 360 hours

b) Rs. 1,440
¢) Rs. 4,320
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d) Rs. 5,346

10) Which of the following is not an explanation for rising profit levels at the
same time as a cash shortage?

a) Rapid expansion sales and output
b) Repayment of loan

c) Purchase of new premises

d) Disposal of fixed assets for profit

Which of the following cost is linked with the cal i ies?
» Product cost
» Period cost
» Both product and period cost
» Historical cost

Over applied FOH will always result w ined FOH rate is applied
and:
» Production is greater th.

A chemi of 10% of input. In a period, 2,500 Kg of
mate i bnormal loss of 75 Kg. What quantity of good
production was achi

» 2,175k

» 2,425 kg
» 2,500 kg

Which of the gi ost becomes the part of cost unit?
» Direct material cost
» Factory overhead
» Direct labor cost
» All of the given options

The main difference between the profit center and investment center is:
» Decision making
» Revenue generation
» Cost incurrence
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» Investment

TO whom purchase order form is issued to place an order?
» Work station incharge
» Store incharge
» Supplier
» Manager

What type of information CANNOT get from bin card?
» It provides the information for Reorder level
» It provides the information for Economic order quantit
» It provides the information for Maximum daily consumpti
P It provides the information for Cost of material consumed

Which of the following groups of workers woul
» Machinists in an organization manufacturin
» Bricklayers in a house building comp
» Maintenance workers in a shoe factory
» None of the given options

Taylor’s Differential Piece Rate Plan b on e rates is fixed.
» Two
» Three
» Four

piece rates is fixed.

ory overhead absorption rates with the help of given

Budgeted figure Actual Figures
Factory overhead (Rs) 1,200,000
Machine hours 200,000 28,000

» Rs. 43.00
» Rs. 0.20
» Rs. 6.00
» Rs. 14

In which of the situation spending variance will give favorable result?
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P Actual factory overhead is less than absorbed factory overhead

» Actual factory overhead is greater than absorbed factory overhead

» Budgeted factory overhead for actual volume is greater than actual factory
overhead

» Absorbed factory overhead less than budgeted factory overhead for actual volume

If absorbed factory overhead is Rs.155,000 and Budgeted factory overhead for
actual volume is Rs. 110,000 then difference of both will be:

» Unfavorable Spending variance of Rs. 45,000
» Favorable Spending variance of Rs. 45,000
» Favorable Volume variance of Rs. 45,000

» Favorable Budget variance of Rs. 45,000

Which of the given is CORRECT for accountin
Process (WIP)?

» WIP a/c Dr and Inventory a/c Cr
» Inventory a/c Dr and WIP a/c Cr
» WIP a/c Dr and payroll a/c Cr

tr i of Work In

tive does not relate to production?
» Commission

» Shift allowance
» Over time p
» Bonus

When cost of production report is prepared?
» It is prepared at the end of each costing period
» It is prepared during each costing period

P It is prepared at the start of each costing period
P It can be prepared at any time
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If, Sales = Rs. 800,000
Markup rate = 25% of cost
What would be the value of Gross profit?
» Rs. 200,000
» Rs. 160,000
» Rs. 480,000
» Rs. 640,000
Reference:
800000*25/125 = 160000

Which of the following best describe a by pr ct?
» A product that usually produces a INount venue which
compared to the main product revenue
» A product that is produced from raw material that would otherwise be
scraped -
» A product that has higher selli it than t ain product
» A product created with t where salésyvalue does not
cover its cost of production

If joint products are
separation, costs should
» Adjusted sales value

eyond the point of
n the basis of:

Variable co

> ct
arginal

» Both Direct Costing & Marginal Costing page 164
di in

ABC Company reported sales of Rs. 150,000 (20,000 units). Fixed costs
amounted to 20,000 and income for the period was Rs.
90,000. Det ' e per-unit variable cost.

> Rs.2.00
> Rs.4.50
> Rs.5.50

Selling price per unit is Rs. 15, total variable cost per unit is Rs. 9, and total
fixed costs are Rs. 15,000 of “XIT”. What is the breakeven point in units for
“XIT’?

» 3,000 units

» 1,000 units
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» 1,667 units

» 2,500 units
Reference:
15-9=6
15000/6 = 2500 units

In process costing, a joint product is
» A product which is later divided in to many parts
» A product which is produced simultaneously with other products and is of
similar value to at least one of the other products
» A product which is produced simultaneously with ot
is of a greater value than any of the other produc

roducts but which

» A product produced jointly with anothe
Reference:
http://wps.prenhall.com/ema_uk _he upc 71/223193.cw/inde
x.html
Question#2

,3 with the following
nversion cost is Rs.

Eclair Ltd manufactured
cost of raw material 10,0
28,000.

» Rs. 15,600
» Rs. 52,000
Reference:
J1 =4000 x 1 0/10000 x 52000 = 22880
J2 =3000 x 10 = 30000/10000 x 52000 = 15600
J3 =1000 x 26 = 26000/10000 x 52000 = 13520

All of the following compose cost of goods sold EXCEPT:
» Raw material
» Labor
» Capital
» Factory overhead
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If a firm is using activity-based budgeting, the firm would use this in place
of which of the following budgets?

» Direct labor budget

» Direct materials budget

» Revenue budget

» Manufacturing overhead budget
A measure of activity — such as direct labor hour or dollars.

Hogan Company plans to assemble 5,000 tables. Each table requires 0.25
hours of direct labor at Rs. 19 per direct labor hour.{Bhe amount of direct
labor that should be budgeted for is:

» Rs. 380,000

» Rs. 95,000

» Rs. 39,583

» Rs. 23,750
Reference:
0.25* 19 * 5000 = 23750

Extent Incorporated estimate
an average cost of Rs. 12 p
produce 27,000 units of pgeduct is:
» Rs. 324,000

» Rs. 470,000

» Rs. 540,

» Rs. 648,000
Reference:

rs per unit at
ct labor cost to

m its customers are called:

any has 1,600 obsolete calculators that are carried in
inventory at ost of Rs. 106,800. If these calculators are upgraded at
a total cost of Rs. 40,000, they can be sold for a total of Rs. 120,000. As an
alternative, the calculators can be sold in their present condition for Rs.
44,800. What will be the sunk cost in this situation?

» Rs. 0

» Rs. 40,000

» Rs. 44,800

» Rs. 106,800

A relevant cost or benefit is one that will be affected by the decision.
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Which of the following should be regarded as relevant in the decision-
making process?

» Fixed overheads

» Notional costs

» Sunk costs

» Opportunity costs

Decision making should be based on all of the following relevant costs
features EXCEPT:
» Relevant Costs are future costs
» Relevant Costs are cash flows
» Relevant Costs are incremental costs
» Relevant Costs are sunk costs

The decision to drop a product line should
» The fact that the product line shows a n
» The ability of the firm to eliminate

the product
» Whether the fixed costs th be a
are less than the contribution m t will be

» Whether the fixed costs that can be avoided b‘dropping the product line

are greater than the contribution margin los

Question No: 26 ( Marks:

Lansing Departm arding three departments:

partment B |Department C
(Rs.) (Rs.)
10,000 12,500
8,500 13,500
1,000 2,000
2,000 500

» More than one department should be discontinued

Question No: 27 (Marks: 1) - Please choose one
Which of the following product always possess a lower selling price then the
main product?

» By-product

» Joint product

» Both By-product and Joint product
» None of the given options
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The proceeds from the sale, less any handling and selling expenses, may be applied

in reducing the cost of the main products.

Question No: 28 (Marks: 1) -Pleasechoose one
Product cost under absorption costing is characteristically:
» Higher than under variable costing.
» Lower than under variable costing.
» Equal to variable costing.
» Higher sometimes and lower sometimes than variable costing.

Question No: 29 (Marks: 1) -Please choose one
Which of the following is a purpose of Break-even cha
usage?
» To show the effect of change in circumstances
» To show the financial performance of b
» To show the financial health of bu
» To calculate the cost of produgti
Reference:
Page 193

Question No: 30 ( Mark
» Cost

» Production
» Net income

Questi X S: ase choose one
' pe of a functional budget?

Reference:
Page 202

Question No: 32 (Marks: 1) -Please choose one

ith respect to its

art then which of the

Which of the following is NOT a requirement of the general principles of

budgeting?
» Responsibility for forecasting costs must be clearly defined
» Changes are not Changes are not made just because of more
favorable results are expected
» Accountability for actual results must be enforced
» Goals must be realistic and possible to attain
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Question No: 33 (Marks: 1) -Please choose one
All of the following are the examples of administrative expenses EXCEPT:

» Salaries of employees

» Utility bills

» Interest paid on debt

» Depreciation of office equipment

Question No: 34 (Marks: 1) -Pleasechoose one
The gross profit for the company amounts to Rs. 8
administration expenses are Rs. 35,000 and Rs. 20,0
financial charges are Rs. 9,500. What would efore tax of a
company?

» Rs. 35,000

» Rs. 30,000

» Rs. 20,500

» Rs. 50,000
Reference:
85000 — 35000 — 20000 — 9500

0. The selling and

Question No: 35 ( Mark
Which of the following woul
» Larger sales volume
» Higher selli rice

» Reduced matetial cost

Question No* Y ‘
[ [ ecision making?

ase choose one

» Both Contribution margin and Differential cost approach

Question No: 37 arks: 1) - Please choose one
Which of the g is a cost that is always irrelevant to decision making?
» Opportunity cost
» Sunk cost
» Direct material cost
» Direct labour cost

Question No: 39 (Marks: 1) -Please choose one
Inventory ordering cost is also known as:

» Procurement cost
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» Inventory carrying cost
» Prime cost
» Conversion cost

Question No: 42 (Marks: 1) -Please choose one
Factory overheads can be absorbed by which of the following methods?
i.  Direct labours hours
ii. Machine hours
iii. As a percentage of prime cost
iv. Rs. *Per unit
» i,ii iii and iv
» iand ii only
» iii and iv only
» iand iv only

Question No: 43 (Marks: 1) -Plea ch
By products can be sold in which of the

» At split off point
» After further process‘ -~

» Both at split off point and after further processmg

pilities
Owner’s equi

» All of the given options
- A

Question No: 45 arks: 1) - Please choose one
If you are curre employed as a cost & management accountant in
manufacturin any and you are also thinking over to start your own
business. In considering whether or not to start your own business, your current
salary level would be:

» A sunk cost

» An incremental cost

» An irrelevant cost

» An opportunity cost

Question No: 46 (Marks: 1) - Please choose one
Flexible budget at actual capacity Rs. 73,400 and Actual cost incurred at actual

85
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



capacity Rs. 76,500. Identify the Expenditure Variance with the help of given
data.

» Rs. 3,100 Favorable balance

» Rs. 3,100 Unfavorable balance

» Rs. 149,900 Favorable balance

» Rs. 149,900 Unfavorable balance

Question No:1 (Marks: 1) -Please choose one

Which of the following cost is linked with the calculation st of inventories?
» Product cost

» Period cost

» Both product and period cost

» Historical cost

Question No: 2 (Marks: 1) -Pleas

Cost of incoming freight on merch
chain would be considered by tha
» Prime costs
» Inventoriable costs
» Period costs

mers by a retail

Question No: 3

If, Sales = Rs.
Markup rate = 25% o
What woul the valu
» Rs. 2 00
» Rs. 160,000

- Please choose one

Which of the follo
determination?
» Unde thod of remuneration a worker is paid on the basis of time
taken by him to perform the work

» Under this method of remuneration a worker is paid on the basis of
production

» The rate is expressed in terms of certain sum of money for total
production

» The rate is not expressed in terms of certain sum of money for total
production

g is TRUE when piece rate system is used for wage

Question No: 6 (Marks: 1) -Please choose one
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All of the following are terms used to denote Factory Overheads EXCEPT:
» Factory burden
» Factory expenses
» Supplementary costs
» Conversion costs

Question No: 7 (Marks: 1) -Please choose one

Which of the following is TRUE regarding the use of blanket rate?

» The use of a single blanket rate makes the apportionment of overhead
costs unnecessary

» The use of a single blanket rate makes the app
costs necessary

» The use of a single blanket rate makes
costs uniform

» None of the given options

ionment of overhead

nt of overhead

Question No: 8 (Marks: 1) -Pleas

In order to compute equivalent unit
be reasonably estimated?
» Units
» The percentage of completion
» Direct material cost
» Units started and co

e following must

A chemical proces input. In a period, 3,500 Kg of
oss of 15% of in put. What quantity

ks: 1) - Please choose one

All of the foll e the features of fixed costs EXCEPT:

» Although fixed within a relevant range of activity level but are
relevant to a decision making when it is avoidable.

» Although fixed within a relevant range of activity level but are relevant to a
decision making when it is incremental.
» Generally it is irrelevant
» Itis relevant to decision making under any circumstances
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Question No: 2 (Marks: 1) - Please choose one

Information concerning Department B of Baba Company for the month of April is
as follows:

Units Material Cost (Rs.)

Work in process opening 7,000 21,000
Units started in April 68,000 | 210,800
Units completed and transferred out 66,000

Work in process ending 9,000

All materials are added at the beginning of the pr
Required: Using the average cost method.

two places) per equivalent unit for materials?
» Rs. 3.00
» Rs. 3.10
» Rs. 3.09
» Rs. 3.05

(rounded to

Question No: arks: 1) - Please choose one

An average cost is also known as: http://vustudents.ning.com
» Variable cost
» Unit cost
» Total cost
» Fixed cost

Question No: 5 (Marks: 1) - Please choose one

Period costs are:
» Expensed when the product is sold
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» Included in the cost of goods sold
» Related to specific period
» Not expensed

Question No: 6 (Marks: 1) - Please choose one

While calculating the EOQ, number of orders is calculated by:
» Dividing required unit by ordered quantity
» Multiplying the required units with ordered quantit
» Multiplying the ordered quantity with cost per order
» Multiplying the required units with cost pe

Question No: 7 (Marks: 1) - Please choo

Which of the following best describe pie
» The increased volume of pro

production

» The increased volume of p

» Establishment of fair sta

» Higher output is a result of effic

ecreased cost of

cost centers.
» None iven options
http://vustudents.ning.com
Question No: 9 (Marks: 1) - Please choose one

Examples of industries that would use process costing include all of the following
EXCEPT:

» Beverages

» Food

» Hospitality

» Petroleum
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Question No: 10 (Marks: 1) - Please choose one

Which of the following loss is not included as part of the cost of transferred or
finished goods, but rather treated as a period cost?

» Operating loss

» Abnormal loss

» Normal loss

» Non-operating loss

Question No: 11 (Marks: 1) - Please choose one

Hyde Park Company produces sprockets that are used ig,wheels. Each sprocket
sells for Rs. 50 and the company sells approximately 000 sprockets each
year. Unit cost data for the year follows:

Direct material
Direct labor
Other cost:
Manufacturing
Distribution

Required: Identify the unit cost

» Rs. 44
» Rs. 37
» Rs. 32
» Rs. 35

» No change
variable costjng

» The u
of variable costing

» The use of absorption costing produces a lower net income than the use
of variable costing

» The use of absorption costing causes inventory value to increase more
than they would though the use of variable costing

urs to inventories for either use absorption costing or
ods
sorption costing produces a higher net income than the use

Question No: 13 (Marks: 1) - Please choose one

Selling price per unit is Rs. 15, total variable cost per unit is Rs. 9, and total fixed
costs are Rs. 15,000 of “XIT”. What is the breakeven point in units for “XIT”?
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» 3,000 units
» 1,000 units
» 1,667 units
» 2,500 units

Question No: 14 (Marks: 1) - Please choose one

Eclair Ltd manufactured three products,JP,1,JP2,JP,3 with the following cost of
raw material 10,000 kg ,cost Rs. 24,000 and conversion cost is Rs. 28,000.

Out-Put Production,Kg sales pricepper Kg

JP,1 4,000 11

JP,2 3,000
JP,3 1,000

value ba

Process costs are apportioned o
Required: What was the apporti

> Rs. 22,880
» Rs. 15,600
» Rs. 13,520
» Rs. 52,000

Question No* se choose one

t, the gap between sales line and variable
cost g? http://vustudents.ning.com

Question No: X - Please choose one

All of the following compose cost of goods sold EXCEPT:
» Raw material
» Labor
» Capital
» Factory overhead

Question No: 17 (Marks: 1) - Please choose one

If a firm is using activity-based budgeting, the firm would use this in place of
which of the following budgets? http://vustudents.ning.com

91
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



» Direct labor budget

» Direct materials budget

» Revenue budget

» Manufacturing overhead budget

A budget that requires management to justi
changes from the previous year is referred to a
» Self-imposed budget
» Participative budget
» Perpetual budget
» Zero-based budget

r than just

Question No: 20 ( Marks:

Which of the following senteé
» Zero-base budgeting
order to have a neditral effect

zero-base budgeting?
n government budgeting in

letely clean sheet of paper
ization must justify the budget it

:1) - Please choose one

T a relevant cost to decision making?

» Avoidable costs
» Sunk costs

Question No: 22 (Marks: 1) - Please choose one

Which of the following statement is NOT true about overhead applied rates?
» They are predetermined in advance for each period
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» They are used to charge overheads to product
» They are based on actual data for each period
» None of the given options

Question No: 23  (Marks: 1) - Please choose one

Equivelant units of production:

» Is a measure of productive activity.

» Represent work done on units still in process as well as units completed
during the period

» Are used as basis for computing per unit co
accounting systems

» All of the given options

in most process cost

Question No: 24 (Marks: 1) - Please choose 0

If, Total fixed cost Rs. 2,000, Variable man
selling cost Rs. 3,000 and Sales Rs. 10,000 t
available to recover fixed cost?
» Rs.6,000
» Rs.3,000
» Rs.7,000
» Rs.8,000

)0, Variable
margin

Question No: 25 ( Marks:

Which one of the following i for costing?

g, all cost of production is considered as product
cost, regardless of ther they are variable or fixed in nature?

» Absorptio

» Marginal costing
» Variable costing

Question No: 27 (Marks: 1) - Please choose one

Which of the following is TRUE in case of positive contribution margin?

» Profit will occur
» Both profit and loss are possible
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» Profit will occur if the fixed expenses are greater than the contribution
margin

» A loss will occur if the contribution margin are greater than the fixed
expenses

Question No: 28 (Marks: 1) - Please choose one

Which of the following is NOT considered as external factor while preparing the
sales budget?

» Availability of materials or supplies
» Governmental rules

» Market fluctuations

» Competitor’s success

Question No: 29 (Marks: 1) - Please cho

making?

» A periodic investment of cas ade and should
be relevant for decision making
» It is a past cost which i ioh making

ecision making

Which of the following budget includes an item of indirect labor cost?
» FOH cost

» Direct material cost budget
» None of the given options

Question No: 32 (Marks: 1) - Please choose one

Which of the following budget includes the item of depreciation of plant?
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» Direct labor cost budget
» Variable FOH cost budget
» Fixed FOH cost budget
» Direct material cost budget

Question No: 33 (Marks: 1) - Please choose one

Mr. Aslam is running his own personal Financial services business. He has been
offered a job for a salary of Rs. 45,000 per month which he does not availed. Rs.
45,000 will be considered as:

» Sunk Cost

» Opportunity cost
» Avoidable cost

» Historical cost

Question No: 34 (Marks: 1) - Please cho

After the development of master budget, whic
used to compare actual performance wit
» Activity ratio
» Capacity ratio
» Efficiency ratio
» All of the given options

Question No: 35 ( Marks:

Which of the following state rical cost?
» It is always
> It is always
» Itis always an

se choose one

come the part of cost unit?

Question No: - Please choose one

Budgeted Factory overhead at two activity levels is as follows for the period.

Activity level Budgeted factory overhead
Low 10,000 Hours | Rs. 40,000
High | 50,000 Hours | Rs. 80,000

Required: Identify variable rate with the help of above mentioned data.
» Rs. 4.00 per hour
» Rs. 1.60 per hour
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» Rs. 1.00 per hour
» Rs. 2.00 per hour

Question No: 39 (Marks: 1) - Please choose one

Which of the given cost is NOT required to prepare Cost of Production Report?

» Period cost

» Material cost

» Labour cost

» Factory overhead cost

Question No: 40 (Marks: 1)
Identify the FOH rate on the basis of &

Budgeted production
actual machine hours
Actual productiofeverheads

> Rs. 4.00
> Rs. 4.08

Question No: 41 (Marks: 1) - Please choose one

Which of the given will NOT be included for the calculation of equivalent units of
material under weighted average costing method?

» Opening work in process units
» Closing work in process units

» Unit completed and transferred out
» None of the given options
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Question No: 42 (Marks: 1) - Please choose one

The basic assumption made in direct costing with respect to fixed costs is that:

» Fixed cost is a controllable cost
» Fixed cost is a product cost

» Fixed cost is an irrelevant cost
» Fixed cost is a period cost

Question No: 43 (Marks: 1) - Please choose one

ABC Company makes a single product which it sells fo
costs are Rs. 75,000 per month and product has a profit/v
that period actual sales were Rs. 225,000.
Required: Calculate ABC Company Break Even p

. 20 per unit. Fixed
e ratio of 40%. In

» Rs.187, 500

» Rs.562, 500

» Rs. 1,500,000

» None of the given option

Question No: 44 ( Marks:

The little Rock Company s
Sales is Rs. 50,000. Identify

RS¥40, 500 and Budgeted

expenses budget

> tive expenses budget
» Financial ch s budget
» Cash bud

Question No: 46 (Marks: 1) - Please choose one

Deficit budget can be compensated through:
» Expenses
» Borrowings
» Revenues
» Investments
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Question No: 47 (Marks: 1) - Please choose one

ABC Company is preparing Cash Budget for its refuse disposal department.
Which of the following would NOT included in Cash Budget?

» Capital cost of a new collection vehicle
» Depreciation of the incinerator

» Sales salaries paid

» Material purchased

Question No: 48 (Marks: 1) - Please choos

A machine cost Rs. 60,000 five years ago. It is machine will

generate future revenue of 40,000. Alternativ i scrapped

for Rs. 35,000. An equivalent machine i to buy

now.

Required: Identify the realizable valu
» Rs. 60,000
» Rs. 40,000
» Rs. 35, 000
» Rs. 38,000

Question No: 1 (

Which of the followi ion of cost of inventories?
» Product cost

» Peri ost

Que : :1) - Please choose one

i i erchandise to be sold to customers by a retail chain would

be consi iser to be:
» Prime costs
» Inventoriable costs
» Period
» None of the given options

Question No: 3 (Marks: 1) - Please choose one

If, Sales = Rs. 800,000

Markup rate = 25% of cost

What would be the value of Gross profit?
» Rs. 200,000
» Rs. 160,000
» Rs. 480,000
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» Rs. 640,000
Reference:
800000*25/125 = 160000

Question No: 4 (Marks: 1) - Please choose one

Which of the following is TRUE when piece rate system is used for wage
determination?

» Under this method of remuneration a worker is paid on the basis of time taken by
him to perform the work

» Under this method of remuneration a worker is paid on the basis of production

» The rate is expressed in terms of certain sum of money otal production

» The rate is not expressed in terms of certain sum of mone total production

Question No: 6 (Marks: 1) - Please choose

All of the following are terms used to denot
» Factory burden
» Factory expenses
» Supplementary costs
» Conversion costs

Question No: 7 ( Marks: 1

- Please ch
Which of the following is TR arding the

» The use of a single blanket rate makes the apportlonment of overhead costs

unnecessary '
» The use of a s the apportionment of overhead costs
necessary

» The
uniform

te makes the apportionment of overhead costs

:1) - Please choose one

lent units of production, which of the following must be

» Units
» The percentage of completion
» Direct Uost

» Units started and completed

Question No: 9 (Marks: 1) - Please choose one

A chemical process has no normal wastage of input. In a period, 3,500 Kg of material
were in put and there was abnormal loss of 15% of in put. What quantity of good
production was achieved?

» 2,175 Kg
» 2,975 Kg
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» 3,325 Kg

> 4425 Kg
Reference:
3500 * 15/100 = 525
3500 — 525 = 2975

Question No: 10 (Marks: 1) - Please choose one

Which of the following best describe a by product?
» A product that usually produces a large amount of revenue which compared to the

main product revenue
» A product that is produced from raw material that Woul%wise be scraped
» A product that has higher selling price per unit than the m. roduct
» A product created with the main product where sales value does not cover its cost
of production

Question No: 11 (Marks: 1) - Please choose

If joint products are to be processed further nd\the point aration, costs should
be assigned to the products on the basis
» Adjusted sales value
» Ultimate sales value
» A physical unit of measure
P An engineering analysi

Question No: 12 ( Marks: 1 se choose

Variable costing is known a
» Direct Costing
» Marginal Costing

e period was Rs. 90,000. Determine the per-unit variable

» Rs.1.00
» Rs.2.00

» Rs.5.50
Reference:
90000 + 20000 = 110000
1500000 - 110000
40000
40000/ 20000
2

Question No: 14 (Marks: 1) - Please choose one
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Selling price per unit is Rs. 15, total variable cost per unit is Rs. 9, and total fixed costs
are Rs. 15,000 of “XIT”. What is the breakeven point in units for “XIT”?
» 3,000 units
» 1,000 units
» 1,667 units
» 2,500 units
Reference:
15-9=6
15000/6 = 2500 units

Question No: 15 (Marks: 1) - Please choose one

In process costing, a joint product is

» A product which is later divided in to many‘rts

» A product which is produced simultaneously with other products and is of similar
value to at least one of the other products -

» A product which is produced si
greater value than any of the other pr

other pr ts but which is of a

» A product produced jointly with an
Reference:
http://wps.prenhall.com/ema_
Question#2

223193.cw/index.html

JP,1,JP2,JP,3 with the following cost of raw
version cost is Rs. 28,000.

sales price, per Kg

11

10
26

Process costs are apportioned on a sales value basis.
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Required: What was the apportioned cost for JP2.

» Rs. 13,520

» Rs. 22,880

» Rs. 15,600

» Rs. 52,000
Reference:
J1 =4000 x 11 = 44000/10000 x 52000 = 22880
J2 =3000 x 10 = 30000/10000 x 52000 = 15600
J3 =1000 x 26 = 26000/10000 x 52000 = 13520

Question No: 17 (Marks: 1) - Please choose on

All of the following compose cost of goods sold EXC
» Raw material
» Labor
» Capital
» Factory overhead

Question No: 18 (Marks: 1)

If a firm is using activity-based budgetin
the following budgets?

» Direct labor budget

» Direct materials budget

IS In place of which of

Question N

Hogan Comp tables. Each table requires 0.25 hours of direct
labor The*amount of direct labor that should be budgeted
for is

> ,583

» Rs. 23,750
Reference:
0.25* 19 * 50

Question No: 20 (Marks: 1) - Please choose one
Extent Incorporated estimates its direct labor costs at 2 hours per unit at an average cost
of Rs. 12 per hour. The budgeted direct labor cost to produce 27,000 units of product is:
» Rs. 324,000
» Rs. 470,000
» Rs. 540,000
» Rs. 648,000
Reference:
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2 x 12 x 27000 = 648000

Question No: 21  (Marks: 1) - Please choose one
The payments that a firm collects from its customers are called:
» Cash disbursements
» Cash outflows
» Cash receipts
» Capital expenditures

Question No: 22 (Marks: 1) - Please choose one
The Auslander Company has 1,600 obsolete calculators that a rried in inventory at a
total cost of Rs. 106,800. If these calculators are upgraded at a cost of Rs. 40,000,
they can be sold for a total of Rs. 120,000. As an alt i ators can be sold
in their present condition for Rs. 44,800. What will be ituati
» Rs. 0
» Rs. 40,000
» Rs. 44,800
» Rs. 106,800

Question No: 23 (Marks: 1)

A relevant cost or benefit is one that the decision. Which of the
following should be regarded ISi process?

» Fixed overheads
» Notional costs
» Sunk costs @

» The fact that the product line shows a net loss over several periods

» The ability of the firm to eliminate some fixed costs as a result of dropping the
product

» Whether the fixed costs that can be avoided by dropping the product line are less
than the contribution margin that will be lost

» Whether the fixed costs that can be avoided by dropping the product line are
greater than the contribution margin lost
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Which of the following product always possess a lower selling price then the main
product?

» By-product

» Joint product

» Both By-product and Joint product
» None of the given options

Question No: 28 (Marks: 1) - Please choose one
Product cost under absorption costing is characteristically:

» Higher than under variable costing.
» Lower than under variable costing.
» Equal to variable costing.

Question No: 29 (Marks: 1) -Pleasec
Which of the following is a purpose of i to its usage?

» To calculate

Reference:
Page 193
Question No: choose one
If rev i ak even chart then which of the following will
be tafhorizont :
ost

» Productio
» Netincome

» sales

Question No: arks: 1) - Please choose one
Which of the following is NOT the type of a functional budget?
» [0 000 budget
» Raw material budget
» Direct labour budget
» Cash budget
Reference:
Page 202

Question No: 32 (Marks: 1) - Please choose one
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Which of the following is NOT a requirement of the general principles of budgeting?
P Responsibility for forecasting costs must be clearly defined
» Changes are not Changes are not made just because of more
favorable results are expected
» Accountability for actual results must be enforced
» Goals must be realistic and possible to attain

Question No: 33 (Marks: 1) - Please choose one
All of the following are the examples of administrative expenses EXCEPT:

» Salaries of employees

» Utility bills

» Interest paid on debt

» Depreciation of office equipment

Question No: 34 (Marks: 1) - Please choose

The gross profit for the company amounts t

expenses are Rs. 35,000 and Rs. 20,000

What would be the Profit before tax
» Rs. 35,000
» Rs. 30,000
» Rs. 20,500
» Rs. 50,000

Reference:

85000 — 35000 — 20

g and administration
rges are Rs. 9,500.

rks®®) - Please choose one

s used in decision making?

» Fixed cost approach
» Both Contribution margin and Differential cost approach })\ N

Question No: 37 (Marks: 1) - Please choose one

Which of the following is a cost that is always irrelevant to decision making?
» Opportunity cost
» Sunk cost
» Direct material cosl
» Direct labour cost

am Maryam :-)
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Inventory ordering cost is also known as:
» Procurement cost
» Inventory carrying cost
» Prime cost
» Conversion cost

Question No: 40 (Marks: 1) - Please choose one
In which of the situation spending variance will give unfavorable result?

P Actual factory overhead is less than absorbe Merhe

» Actual factory overhead is greater than abs& ad
» Budgeted factory overhead for actual Volume is less than actual factory overhead
» Absorbed factory overhead less than cad for actual volume

Question No: 41  (Marks: 1)
The net profit or net loss for a par
statement?

» Cost of goods manufa
» Bank reconciliation sta
» Income statement

ich of the given

hich of the following methods?

> iii and iv only
» iand iv only

Question No: 43 (Marks: 1) - Please choose one
By products can be sold in which of the following condition(s).

» At split off point
» After further processing
» Both at split off point and after further processing
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» None of the given options

Question No: 44 (Marks: 1) - Please choose one

Which of the given is (are) part of budgeted balance sheet?

» Assets

» Liabilities

» Owner’s equity

» All of the given options

Question No: 45 (Marks: 1) - Please choose

If you are currently employed as a cost & mana
company and you are also thinking over to star
whether or not to start your own business, yo
» A sunk cost
» An incremental cost
» An irrelevant cost
» An opportunity cost

Flexible budget at actual capac ost incurred at actual capacity
elp of given data.

| fixed expenses Rs. 50,000 Actual sales for the month of

May Rs. n sales Rs. 225,000.

Required: i argin of safety.
» Rs.
» Rs.
» Rs.
» Rs. 62,000

Reference:

MOS = Budgeted or Actual sales — Break even sales

MOS = 262000 — 225000

MOS = 37000

Question No: 48 (Marks: 1) - Please choose one
Superior started 80,000 gallons of paint. During the month the company completed
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92,000 gallons and transferred them to the mixing department. Superior had 38,000
gallons (30% complete as to conversion) in beginning inventory and 26,000 gallons (20%
complete as to conversion) in ending inventory.

Required: How many gallons were completed in this period?

» 54,000 units
» 66,000 units
» 42,000 units
» 48,000 units
Reference:
Started and completed units = transfer - work in process openi
Started and completed units = 92000 - 38000
Started and completed units = 54000

Question No: 1  ( Marks: 1)

BDH produced 30,500 units of Kisty (a pro : i sty takes two units of
component L. Component L is budgeted it. nt inventory of L is
4,000 units. BDH wants 6,000 units ear. How much
will the direct materials budget sho

» Rs. 756,000
» Rs. 390,000
» Rs. 684,000
» Rs. 330,000
Reference:
30500*2 = 61000 + 600

Question No:

Perio ;
pensed w
ncluded in the of goods sold

» Related to specific period

» Notexpense

Question No: 3 ( s:1) - Please choose one

In a job order m, the use of direct materials would be recorded as a debit to:
» Finished Goods inventory
» Manufacturing Overhead
» Raw Materials inventory
» Work in Process inventory

Question No: 4 (Marks: 1) - Please choose one

Which of the following is/are reported in production cost report?
» The costs charged to the department
» How the costs were assigned to the output?
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» The equivalent units of production by the department
» All of the given options

Question No: 5 (Marks: 1) - Please choose one

Which of the following is the best define a by-product?

» A by-product is a product arising from a process where the wastage rate is higher
than a defined level

» A by-product is a product arising from a process where the sales value is
insignificant by comparison with that of the main product or products

» A by-product is a product arising from a process e the wastage rate is
unpredictable

» A by-product is a product arising from a
significant by comparison with that of the main produc

e sales value is

Question No: 6 (Marks: 1) - Please ch

Which of the following constitutes the bas
allocated?
» Physical volume of output
» Conversion costs
» Prime costs
» Market value

are more frequently

Question No: 7 ( Marks: 1)

Product cost under dsorption ¢ g
» Higher than under variable costing
» Lower than unde i

rption costing produces a higher net income than the use of
variable costing
» The use of absorption costing produces a lower net income than the use of
variable costing
» None of the given options

Question No: 9 (Marks: 1) - Please choose one

Company A's fixed costs were Rs. 42,000, its variable costs were Rs. 24,000 and its sales
were Rs. 80,000 (8,000 units). What is the company's break-even point in units?

» 1,400 units

» 5,000 units

» 6,000 units
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» 7,000 units
Reference:
80000 — 24000 = 56000
56000/ 8000 =7
Break even sales = FM / CM per Unit
Break even sales = 42000/ 7
Break Even sales = 6000 units

Question No: 10 (Marks: 1) - Please choose one
The Environmental Filter Company is planning to sell air filt
unit. Variable costs are Rs. 1,500 per unit and total fixed cost
is the value of sales necessary to break even?
» Rs. 1,000,000
» Rs. 2,000,000
» Rs. 2,500,000
» Rs. 5,000,000
Reference:
CM in ratio = CM/ Sales
CM = 2500 - 1500
CM =1000
CM in ratio = 1000/ 2500
CMinratio=0.4
Break even in sales = Fixed /
1000000/0.4
2500000

ystems for Rs. 2,500 per
Rs. 1,000,000. What

Question No: 11 (Ma
All of the féllewing are as i onstructing a Break even chart EXCEPT:
» There is no change of time value of money

» Budget
» Final a
» Forecast

» Balanced scorecard

Question No: 13 (Marks: 1) - Please choose one
Which of the following is true for the direct labor cost budget?

» It is prepared from the sales budget

» It is prepared from the production budget

» In the direct labor budget, ending inventory is subtracted and beginning inventory
is added
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» The first line of the direct labor budget is total direct labor cost

Question No: 14 (Marks: 1) - Please choose one
Usually the first step in the production of the master budget is the:
» Sales forecast
» Sales budget
» Cash budget
» Production budget

Question No: 15 (Marks: 1) - Please choose one
Which of the following budget is the most important in service

» Production budget
» Merchandise purchases budget
» Direct labor budget

» Direct materials budget

Question No: 16 (Marks: 1)

When using a flexible budget, a de
» Decreases variable cost per unit
» Decreases total costs

relevant range:

Question No: 17 (
The managers of a fir

eciding whether to accept or reject a
st that is not relevant to their decision is the:

N\

3/student_viewO/chapter13/multiple_choice_quiz.html

hill.com/sites/007352
Question#4

Question No: 18 (Marks: 1) - Please choose one
Costs that have been incurred include which of the following?
» Only opportunity costs
» Costs that have already been paid
» Costs that have been committed
» Both costs that have already been paid and committed

Question No: 19 (Marks: 1) - Please choose one
Which of the following costs are always relevant in decision-making
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» Avoidable costs

» Fixed costs

» Sunk costs

» None of the given options
Reference:
http://highered.mcgraw-
hill.com/sites/0073526703/student_viewO0/chapter13/multiple_choice_quiz.html
Question#3

Question No: 20 (Marks: 1) - Please choose one
A company produces two chemicals in a joint process. Chem

A can be sold at split

processed, it would cost Rs. 17 per gallon. At what e company be in
different between disposing of chemical B at spli i
chemical?
» Rs. 5
» Rs. 17
» Rs. 29
» Rs. 7

Question No: 21  (Marks: 1)

Under which of the followi
regardless of whether they,gre

» Absorption cost,}'dg\

» Direct costin
» Variable costing

sidered as product cost,

» Marginal costi

choose one

nits still in process are 5,000 and degree of
o conversation cost. Which of the following is
tity of material?

» 22,000 units
» 15,000 units
Reference:
5000*40/100 = 2000

20000 + 2000 = 22000

Question No: 23 (Marks: 1) - Please choose one

Which of the following method is most commonly used for dealing with beginning work
in process inventory units while preparing the Cost of Production Report?

» FIFO Method (Not sure)

» Cash Accounting Method

» Accrual Accounting Method
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» LIFO Method

Question No: 24 (Marks: 1) - Please choose one
A
company ABC has contribution to sales ratio of 35%, variable cost to sales ratio of 65% and a
profit to sales ratio of 17%. What will be the margin of safety ratio?

> 48.6%

» 53.8%

» 26.2%

» It can not be calculated from the given data
Reference:
Profit to sales ration / contribution to sales ratio * 100
17/35 * 100
0.4857 * 100
48.57

Question No: 25 (Marks: 1) -Pleasec eo
All of the following are the examples of i Xpenses EPT:

P Salaries of employees
» Utility bills
P Interest paid on debt

What kind of decisio
for a certain period?

there will be surplus cash in hand

- Please choose one
personal Financial services business. He has been offered

considered as:
» Sunk Cos
» Opportunity cost
» Avoidable cost
» Historical cost

Question No: 28 (Marks: 1) - Please choose one
Which of the following ratio is obtained by dividing Flexible budget at actual capacity to
Original budget at normal capacity?

P Activity ratio

» Capacity ratio
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» Profitability ratio
» Efficiency ratio

Question No: 29 (Marks: 1) - Please choose one

Which of the following is used in decision making?
» Contribution margin approach
» Differential cost approach
» Fixed cost approach
» Both Contribution margin and Differential cost approach

Question No: 30 (Marks: 1) - Please choose one

Given data that:

Work in Process Opening Inventory Rs. 20,000
Work in Process Closing Inventory
Finished goods Opening Inventory
Finished goods Closing Inventory
Cost of goods sold

What will be the value of cost of g

» Rs. 200,000
» Rs. 210,000
» Rs. 220,000
» Rs. 240,000

» None of the gi

options

Question No: 32 (Marks: 1) - Please choose one
Cost of material consumed under FIFO costing method is Rs. 5,000. Direct labor cost
was Rs. 3,000 and Factory overhead was 150% of direct labor. 800 units sold @ Rs. 30
and per unit cost was @ Rs25.
Required: Calculate Profit with the help of given information.

» Rs. 4,000

» Rs. 3,000

» Rs. 5,000

» Rs 4,500
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Question No: 33 (Marks: 1) - Please choose one

The annual demand for a stock item is 2,500 units. The cost of placing an order is Rs. 80
and the cost holding an item in stock is for one year is Rs. 15.
Required: What is the EOQ?
» 163 units
» 1250 units
» 5,000 units
» 160 units
Reference:
2*2500*80=400000
400000/15=26,666
Take under root of 26666 = 163

Question No: 34 (Marks: 1) - Please choose

In cost accounting, Avoidable loss is charged.to w

» Factory over head control account
» Work in process control account

year. The cost of goods sold was Rs.

90,000 and . 18,000. What was the inventory turnover ratio

for the year?

90000 = x +96000 — 1
90000 = x + 78000

now,
= 12000 + 18000/ 2 = 15000
Inventory turnover ratio = 90000/ 15000 = 6

Question No: 36 (Marks: 1) - Please choose one

Consider the following data:
| Normal wages | Rs.600 |
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Overtime Payment Rs.11,00
Total shift allowance Rs. 100
Over time premium ?

» Rs. 500
» Rs. 600
» Rs. 700
» Rs. 1200

Question No: 37 (Marks: 1) - Please choose one
Calculate predetermined factory overhead absorption rates with

help of given data.

Items Budgeted figure
Factory overhead (Rs) 1,200,000
Machine hours 200,000

» Rs. 43.00

» Rs. 0.20

» Rs. 6.00

» Rs. 14
Reference:
1200000/20000 = 6

» Budgeted factory overhead for actual volume is greater than actual factory

(kead less than budgeted factory overhead for actual volume

Question No: rks: 1) - Please choose one
If Budgeted F r actual volume is 740,000 and Actual factory overhead is Rs.
710,000 then difference of both will be:

» Volume variance of Rs. 30,000

» Spending variance of Rs. 30,000

» Overhead variance of Rs. 30,000

» Idle capacity variance of Rs. 30,000

Question No: 40 (Marks: 1) - Please choose one

116
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



You are required to identify how many good units were outputs from the process.

Units
Units put in process 4,000
Lost units 500
Units in process 200

» 3,300 units

» 4,000 units

» 4,200 units

» 4,500 units
Reference:
4000 — 500 — 200 = 3300

Question No: 41 (Marks: 1) - Please ch

Revenue from sales of the by-products i income sta nt as:

» A deduction from the c
» All of the given options

Question N

> nal costi
» Marginal and absorption costing

» Job ordw
» Process

Question No: 43 (Marks: 1) - Please choose one

Income Statement Budget include(s) all of the following EXCEPT:
» Selling & distribution expenses budget
» General & administrative expenses budget
» Financial charges budget
» Cash budget

Question No: 44 (Marks: 1) - Please choose one

Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED
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Which of the given rate is used in production cost budget?

» Predetermined rate
» Variable rate

» Fixed overhead rate
» Blanket rate

Question No: 45 (Marks: 1) - Please choose one

Which of the given functional budget is NOT required to cal
statement?
» Cash budget
» Cost of goods sold budget
» Sales budget
» Selling & administrative expense bud

e budgeted income

Question No: 46 (Marks: 1) -P.

A cost that will not be incurred if a

» Avoidable cost
» Sunk cost

» Historical cost
» Opportunity

Question No: 48 ( ks: 1) - Please choose one

Flexible budget at capacity Rs. 73,400 and Actual cost incurred at actual capacity
Rs. 76,500. Ide Expenditure Variance with the help of given data.

» Rs. 3,100 Favorable balance

» Rs. 3,100 Unfavorable balance

» Rs. 149,900 Favorable balance

» Rs. 149,900 Unfavorable balance

Question No: 1 (Marks: 1) - Please choose one

The contribution margin ratio is 30% for the Spice Co. and the breakeven point in sales
is Rs. 150,000. If the company desires a target net income of Rs. 60,000, what would
have to be the amount of actual sales?
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» Rs. 200,000
» Rs. 350,000
» Rs. 250,000
> Rs. 210,000

Question No: 2 (Marks: 1) - Please choose one

Cost of finished goods inventory is calculated by:
» Deducting total cost from finished goods inventory
» Multiplying units of finished goods inventory with the cost per unit
» Dividing units of finished goods inventory with the co
» Multiplying total cost with finished goods inventory
http://vustudents.ning.com
Question No: 3 (Marks: 1) - Please choose one

P If the time taken is greater than the time allo receive

time wages
p If the time taken is less than the time al ives a bonus on time
saved )

Question No: 4 (Marks: 1

Superior started 80,000 gallo onth the company completed
partment. Superior had 38,000
ding inventory.

nd conversion costs are added evenly

gallons in beginning i
Material is added at the

conversion costs and ending WIP was 20%
any uses a FIFO costing

Costs added th :
Direct materials Rs. 150,000
Conversion costs Rs. 343,200

Required:
What was the cost of direct materials in ending inventory?

» Rs. 37,560
» Rs. 42,600
» Rs. 45,550
» Rs. 48,750
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Question No: 5 (Marks: 1) - Please choose one

Jones, Industries uses process costing system. In October, the finishing department had
30,000 (20% as to conversion) units in beginning work-in-process, 45,000 (40% as to
conversion) units in ending inventory and had 95,000 units transferred in from the
previous department. Material is added at the end of the process and conversion costs are
added uniformly throughout the process.

Required: If Jones uses weighted average, what are the equivalent units of production
for direct material and conversion costs?

» Material 125,000 units Conversion cost 45,000 units
» Material 125,000 units Conversion cost 98,000 units
» Material 125,000 units Conversion cost 18,00 i
» Material 125,000 units Conversion cost 80,000

Question No: 6 ( Marks: 1) - Please chgose o
An average cost is also known as:
» Variable cost
» Unit cost
» Total cost
» Fixed cost

Question No: 7 (Marks: 1

Period costs are:
» Expensed when the produ
» Included in the'¢ost of goo

» Related to specific period

hoose one
ar period of time is reported on which of the

owner's equity
» Income statement
» Balance shee
http://vustu .com
Question No: 9 (Marks: 1) - Please choose one

Which of the following is correct?

» Units sold= Opening finished goods units + Units produced — Closing finished
goods units

» Units Sold = Units produced + Closing finished goods units - Opening finished
goods units

» Units sold = Sales + Average units of finished goods inventory

» Units sold = Sales - Average units of finished goods inventory

120
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



Question No: 10 (Marks: 1) - Please choose one

Which of the following is important requirement of the effective material control?

» There are proper storage facilities

» There is a proper authority that will regulate the supply of material

» The accounts should provide a running balance of the value of the materials on
hand

p All of the given options

Question No: 11 (Marks: 1) - Please choose one

Material requisition is a document that supports the requiregent of the material. This
document is sent to store incharge and approved by:
» Store manager
» Production manager
» Supplier manager

» Purchase manager

Question No: 12 (Marks: 1) -Pleasec

The Process of cost apportionment is ¢
» Cost may be controlled

» Whole items of cost cafigbe charged to
» Common costs are shared among cost centers

Question No: 13

Which of the followi order cost accounting system?
» It records manufactui i erpetual inventory system
» It tracks, cost by jo
» Itis be ited f

» All of the given options
Que

n No: s:1) - Please choose one

(
A by
» Is produced from material that would otherwise be of no value
» Has a lower selling price than the main product
» Is created a with the main product, but its sales value does not cover its
production cos
» Always produces a large amount of revenue than the main product

Question No: 15 (Marks: 1) - Please choose one

According to marginal costing concept, all fixed costs are considered as:
» Period cost
» Production cost
» Mixed cost
» Sunk cost
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Question No: 16 (Marks: 1) - Please choose one

Variable costing is also known as: http://vustudents.ning.com
» Direct Costing
» Marginal Costing
» Both Direct Costing & Marginal Costing
» Indirect Costing

Question No: 17 (Marks: 1) - Please choose one

Blackhat Chimney Builders constructed 80 units during 1901. The total sales value for
these 80 units was Rs. 460,000. Variable costs associated with,each unit were Rs. 4,000
and the company's fixed costs for 1901 amounted to Rs. 50,00 ow much was the per-
unit contribution margin?

» Rs. 750

» Rs. 1,125
> Rs. 1,750
» Rs. 5,125

Question No: 18 ( Marks: 1)

Which of the following represents t
» (Sales - Total Expenses) / S
P (Sales - Fixed Expenses) / Sales
P (Sales - Cost of Goods(Seld) / Sales
» (Sales - Variable Expenses) / Sales

1) - Please choose one

orporation’s Product A is as follows:

Rs.
ales price 300,000
Variable cost 240,000
Fixed Cost 40,000

Assuming that Label increased sales of Product A by 20%, the profit of the product A
would be which of the following?

» Rs. 20,000
» Rs. 24,000
» Rs. 32,000
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» Rs. 80,000

Question No: 21  (Marks: 1) - Please choose one

While constructing a Break even chart, the gap between sales line and variable cost line
shows which of the following?

» Fixed cost

» Break even point

» Contribution margin

» Variable cost

Question 2 (Marks: 1) - Please choose one

If one would prepare a graph with a horizontal axis representing
a vertical axis representing per-unit production cost, would a li
production cost is drawn?

» As a horizontal line
» As a vertical line

> As a straight line sloping upward to cht
> As a straight line sloping downward to the right

its of production and
epresenting fixed

Question No: 23 (Marks: 1)

All of the following are the objectives of
» Maximization of sales
» Profit maximization

Question No: 24 ( Ma one

Production of

dget is
http://vustude ing.co

which of the following budget?

udget

Question No: 25 ( ks: 1) - Please choose one

Consider the followi
Closing stock
Production 280 units
Sales 330 units
Based on the data, the opening stock for April will have to be:

» 50 units

» 410 units

» 70 units

» 130 units

ata for the month of April:

Question No: 26  (Marks: 1) - Please choose one
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Which of the following is a reason of main difference between production budget and
Production cost budget?

» Production budget is constructed in units

» Production budget is constructed in Rs.

» Production cost budget is constructed in units

» Both are same budgets

Question No: 27 (Marks: 1) - Please choose one
Which of the following factor would determine the importance of direct labor cost
budget in human resource department? a
» Provide guidance about the requirements of number of work force
» Provide feed back about the working of workforce
» How much payroll will have been paid?
» How the cost units will be produced?

Question No: 28 (Marks: 1) - Please choose
Usually the first step in the produ er budget
http://vustudents.ning.com

P> Sales forecast

» Sales budget

» Cash budget

» Production budget

is the:

Question No: 29 ( Marks: 1 se choose

The master budget

» Production budge
» Direct materials bu
» Direct bud

» Depreciation

Question No: 31 (Marks: 1) - Please choose one
Which of the following is true about flexible budget?
» A budget that always based on actual capacity
P> A budget that is prepared using spreadsheet model
» A budget in which total variable cost remains unchanged
» Variable costs per unit will remain unchanged
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Question No: 32 (Marks: 1) - Please choose one

Smith & Company estimate its overheads to produce 80,000 units are Rs. 1,000,000 (60
percent is variable). What would be the budgeted overhead at a capacity level of 100,000
units?

» Rs. 1,050,000

» Rs. 1,150,000

» Rs. 1,250,000

» Rs. 1,450,000

Question No: 33 (Marks: 1) - Please choose one

Which of the following is a process by which managers anal tions available to set
courses of action by the organization?
» Heuristics method
» Decision making
» The Delphi technique
» Systematic error

Question No: 34 (Marks: 1) -Ple

The following monthly data are avai
sales price = Rs. 36 Unit variable
Actual sales for the month of May = 7,0
for May was:

> Rs. 6,000

ly product: Unit
enses = Rs. 50,000
in of safety for the company

» Rs. 27,000

» Rs. 56,000

perpetually rationing basis
» A system of recording receipts and issues of stock as they occur, showing the
resulting balance of each stock item at all times
» A system of stock recording which remains unchanged over time,in rder to
monitor trends

Question No: 36 (Marks: 1) - Please choose one

D Corporation uses process costing to calculate the cost of manufacturing Crunchies.
During the month 12,500 units were completed, 1,500 units remained in work in process
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at 25 percent completed. How many equivalent units are produced?

» 12,500 units
» 12.875 units
» 14,250 units
» 12,125 units

Question No: 37 (Marks: 1) - Please choose one
A cost that has been incurred but cannot be changed by present or future decisions is
called:
» Sunk cost
» Differential cost
» Opportunity cost
» Marginal cost

Question No: 38 (Marks: 1) - Please choose

All of the following are deducted from income
EXCEPT:
» Selling expenses
» Advertising expenses
» Administrative expenses
» Financial expenses
http://vustudents.ning.com

Question No: 39 ( Marks: 1

. Chemical A can be sold at split
off while chemical B r disposal. If chemical B is further
processed, it would cost : at sale price would the company be in
different b ical B at split off and further processing the
chemical?

Question No: 40 ( ks: 1) - Please choose one

Which of the following is(are) base(is) of cost allocation under joint products?

» Physical quantity ratio

» Selling price ratio

» Hypothetical market value ratio
> All of given options

Question No: 41 (Marks: 1) - Please choose one

What is the starting point of variable cost line on a break even chart at zero production
level?
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» It must start from origin
» It might start from origin
» It does not start from origin
» Non of the given options

Question No: 42 (Marks: 1) - Please choose one

Which of the following is NOT the type of a functional budget?
» (11 [J[][][]budget
» Raw material budget
» Direct labour budget
» Cash budget

Question No: 43 (Marks: 1) - Please choose
Which of the following must be required for i i udget?
» Sales in rupees
» Cash budget
» Flexible budget
» Functional budget

Question No: 44 ( Marks:
Which of the following budge
» FOH cost budget

choose one
Atlas Corporation to prepare a cash budget for

What is the end
» Rs. (8,000)
» Rs. 22,000
» Rs. 36,000
» Rs. 45,000

balance in September?

Question No: 46 (Marks: 1) - Please choose one
Which of the following cost (‘s) will be considered as controllable cost (‘s)?

» Direct material
» Direct labor
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» Variable overhead
» All of the given options

Question No: 47 (Marks: 1) - Please choose one

All of the following costs are irrelevant to decision making EXCEPT:
» Incremental cost
» Sunk cost
» Fixed cost
» Supervisor’s routine salary
http://vustudents.ning.com
Question No: 48 (Marks: 1) - Please choose one

Which of the following statement is TRUE about opportunity co
P It is irrelevant to decision making
P It is always a sunk cost
» It is always a historical cost
> It is relevant to decision making

Question No: 1 (Marks: 1)

All of the following are a part of
» Identifying the objectives
» Search for alternati ctions

Question No: 2 ( one

All of the following in

Question No arks: 1) - Please choose one
The chief financial officer is also known as the:

» Controller

» Staff accountant

» Auditor

Question No: 4 (Marks: 1) -Please choose one

When purchases are added to raw material opening Inventory, we get the value
of: [Ihttp://vustudents.ning.com
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» Material consumed.

» Material needed.
» Raw material ending inventory.

Question No: 5 (Marks: 1) -Please choose one

For manufacturing entities inventories are classified into ---------- categories?
» One
» Two

» Four

Question No: 6 (Marks: 1) - Please choos

When prices are rising over time, which i tory costing
methods will result in the lowest gross margin®
» FIFO
» LIFO
» Weighted Average
» Cannot be determined

Question No: 7 (Marks: 1) -Pleasechoose

All of the following are unaveidable causesyof labor t er EXCEPT:

» Retirement and deat ding to labor turnoyver

» Domestic responsibili ook afterole ents

» Accident o ess rend 0 ers pefmanently incapable to work

Question N@; 8 ( Mark ) -Please choose one

The term co locatig .; scribed as:

The caosts that'€an not be identified with specific cost centers.
Lhe to tory overhead needs to be distributed among specific
cost centers.

» None of the ¢

en options

Question No Viarks: 1) - Please choose one

Which of the following statement is true ragarding Repeated distribution
method?

» The re-allocation continues until the numbers being dealt with become
very Large

» The re-allocation continues until the numbers being dealt with become
small

» None of the given options
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Question No: 10 (Marks: 1) -Please choose one

Which of the followinﬁ is TRUE reﬁardinﬁ the use of blanket rate?

» The use of a single blanket rate makes the apportionment of overhead
costs necessary

» The use of a single blanket rate makes the apportionment of overhead
costs uniform

» None of the given options

Question No: 11 (Marks: 1) -Please choose one

Which of the following is/are reported in producti
» The costs charged to the department
» How the costs were assigned to the ou
» The equivalent units of productio

Question No: 12 (Marks: 1)

In the process costing when | artment no 1.
What would be the journal entry Passe

» Payroll a/c
To W.I.P (Dept-II)

Question No: 13 arks: 1) - Please choose one

Materials Costs (Rs.) Conversion Costs
(Rs.)
Work-in-process, May 1 46,000 78,000
Current costs (May) 92,000 124,000
Total cost 138,000 202,000

If the equivalent units of production under weighted average costing were 40,000
and 50,000 for materials and conversion costs, respectively, what are the costs
per equivalent unit?
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» Rs. 1.15, Rs.1.56
» Rs.1.76, Rs.1.94
» Rs. 2.30, Rs. 2.48

Question No: 14 (Marks: 1) -Please choose one

In comﬁarinﬁ common cost and 'ioint cost: htti://vustudents.ning.com

» Both have the same objective of assigning production cost to cost center

» They differ since common cost products or serviges have been obtained
separately

» Common cost is sometime used as Joint cost

Question No: 15 (Marks: 1) -Please chQosE

Which of the following concept is used in abso
» Matching concept

» Cash concept
» None of the given options

Question No: 16 (Marks: 1)

Good Job Plc makes one : per unit. Fixed costs are
Rs. 28,000 per month and . erdnit. What sales level in
units will provide a profit of R

» 350 units
» 667 units

ase choose one

ated as period costs under direct costing?

dministrative expenses

» Both fixed
expenses

ufacturing overhead and fixed selling and administrative

Question No: 18 (Marks: 1) -Please choose one

Variable costing is also known as: http://vustudents.ning.com
» Direct Costing

» Marginal Costin
> Both Direct Costing & Marginal Costing

» Indirect Costing

Question No: 19 (Marks: 1) - Please choose one

Cost volume Profit analysis (CVP) is a behavior of how many variables?
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Question No: 20 (Marks: 1) -Please choose one

Which of the following costs do NOT change when the activity base fluctuates?
» Variable costs
» Discretionary costs

» Mixed costs

Question No: 21 (Marks: 1) -Please choose one
The break-even point is the point where:

» Total contribution margin equals total fi expenses
» Fixed cost plus Profit is equal to contribu margi
» All of the given options

Question No: 22 (Marks: 1) ¢ = Please chooSe one
In process costing, a joint product is http://vustude ing.com

ivided in to

» A product which is la y parts

is prodUicel
any of

aneously with other products but which
other praducts

» A product w
is of a greater value tha

» A produet produced jointly another organization

arks: 1) “9Please choose one
actured three products,JP,1,JP2,JP,3 with the following cost of
raw i 0,€0st Rs,24,000 and conversion cost is Rs,28,000.

Out-Put Production,Kg sales price, per Kg
JP,1 4,000 11
JP,.2 3,000 10
JP.3 1,000 26
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Process costs are apportioned on a sales value basis.
Required: What was the apportioned cost for JP3.

> Rs. 52,000
> Rs. 13,520
» Rs. 15,600

Question No: 24 (Marks: 1) -Please choo
The little Rock Company shows fixed expense
safety ratio is 25% and Break even sales is : on margin
ratio is 30% what would be the actual sales?

» Rs. 40,500

» Rs. 12,150
> Rs. 4,050

Question No: 25 ( Marks!
All of the following are assumptions.in construeting a Break even chart EXCEPT:

2ase choose one
dgeting, the firm would use this in place of

Question No: 27 (Marks: 1) -Please choose one

Hogan Company plans to produce 5,000 wooden tables. Each table requires 10
bd. Ft. of lumber at a price of Rs. 2.50 per bd. Ft. The desired beginning and
ending inventories of lumber are 10,000 and 20,000 board feet, respectively. The
total direct materials purchase cost for lumber is: http://vustudents.ning.com

» Rs. 12,500
» Rs. 175,000
» Rs. 150,000
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Question No: 28 (Marks: 1) -Please choose one

Which of the following budgets provide information for preparation of the owner's
equity section of a budgeted balance sheet?

» Sales budget

» Cash budget

» Budgeted income statement

Question No: 29 (Marks: 1) -Please choose one

Which of the following is NOT example of{ya cash outflow?

http://vustudents.ning.com

» Purchase of new equipment
» Commission paid
» Depreciation

Question No: 30 (Marks: 1)

When using a flexible budget,
basis) as production increases?
» Variable costs are

StS (on a per unit

Question No: 32 arks: 1) - Please choose one

Decision making ld be based on all of the following relevant costs features

» Relevant Costs are future costs
» Relevant Costs are cash flows
» Relevant Costs are incremental costs

Question No: 33 (Marks: 1) -Please choose one

In a make or buy situation with no limiting factors, which of the following would
be the relevant costs for the decision?
» Opportunity costs
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» Sunk costs
» Implied costs

Question No: 34 (Marks: 1) -Please choose one

In one off contracts, a contract will probably be accepted if:
» It increases contribution margin and decreases profit
» It increases both contribution margin and profit

» It reduces both contribution margin and profits

Question No: 35 (Marks: 1) -Please choose one

The following monthly data are available for
product: Unit sales price = Rs. 36 Unit variable
expenses = Rs. 50,000 Actual sales for the units. The
margin of safety for the company for May,was:
» Rs. 27,000
» Rs. 56,000

» Rs. 106,000

of the vyear:

- Please choose one

Details of the process for the last period are as follows:

Materials 5,000 Kgs at 0.50 per Kg
Labor Rs.700
Production overheads | 200% of labor

Normal losses are 10% of input in the process. The out put for the period was
4,200Kg from the process. There was no opening and closing Work- in- process.
What were the units of abnormal loss?
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» 500 units
» 300 units

» 100 units
Question No: 38 (Marks: 1) -Please choose one

A cost that has been incurred but cannot be changed by present or future
decisions is called:

» Differential cost
» Opportunity cost
» Marginal cost

Question No: 39 (Marks: 1) -Please choos
If an item of overhead expenditure is charge
this would be an example of:

» Apportionment

» Re-apportionment
» Absorption

Question No: 40 ( Mark
When By-product is to be
costing?

» Costing ap

owing will be used for

ase choose one
ety ratio based on the following information?
= Rs. 100 per unit
= Rs. 25 per unit
Rs. 50 per unit

Question No: 42 (Marks: 1) -Please choose one
What is the starting point of variable cost line on a break even chart at zero
production level?

» It must start from origin
» It might start from origin
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» Non of the given options

Question No: 43 (Marks: 1) -Please choose one
All of the following describe forecasting EXCEPT:

» It is a projected cash flow for the future, based on scheduled transactions
and estimated amounts

» A prediction of customer demand used to calculate,future inventory levels

» Predicting current and future market trends using ting data and facts

Question No: 44 (Marks: 1) -Please choo
Which of the following is NOT considered as _ext
sales budget?

reparing the

» Availability of materials or supplie
» Governmental rules
» Market fluctuations

Question No: 45 ( Mark
If estimated direct labour c ) 2,400 units then what
is the amount of FOH cost if [ 50% of direct labor cost?

» Rs. 1,200
» Rs. 26,200

ase choose one

included in FOH cost budget?

Question No arks: 1) - Please choose one

Which of the following is the best example of a fixed administrative expense?

» Commission paid
» Repair and maintenance
» Stationery expense

Question No: 48 (Marks: 1) -Please choose one

Which  of the following statement is TRUE about historical
cost?http://vustudents.ning.com
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» ltis alwais relevant to decision makinﬁ

» It is always an opportunity cost
» It is always realizable value

Question No:1 (Marks: 1) -Please choose one

Railway Product Ltd makes one product that sells for Rs. 72 per unit. Fixed
costs are Rs. 81,000 per month & the product has a contribution to sales ratio of
37.5%. In a period when actual sales were Rs. 684,000 the company's unit
margin of safety was:
» 4,000 units
» 4,800 units
» 5,500 units
» 6,500 units
http://vustudents.ning.com/
Question No: 2 (Marks: 1)

If Selling price per unit Rs. 15.00; Direc
Labour cost per unit Rs. 4.00 Vari

: Direct
. 2.00; Budgeted
harged evenly
across each month of the year. ,000 units per

> Rs. 9.50
> Rs. 15.00
» Rs. 11.50
> Rs. 3.50

ase choose one

paint. During the month the company

Beginning WIP was
20% complete as t

% complete as to conversion costs and ending WIP was
nversion costs. The company uses a FIFO costing

The company uses a FIFO costing. The cost data for February follow:

Beginning inventory:

Direct materials Rs.22, 200
Conversion costs Rs. 44,000
Costs added this period:
Direct materials Rs. 150,000
Conversion costs Rs. 343,200

Required:

138
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



What was the cost of direct materials in ending inventory?

» Rs. 37,560
> Rs. 42,600
> Rs. 45,550
> Rs. 48,750

Question No: 4 (Marks: 1) -Please choose one

Which of the following costs would NOT be a period cost?

» Indirect materials

» Administrative salaries
» Advertising costs

» Selling costs

Question No: 5 (Marks: 1)

cost imposed on a firm includes cost w
doesn't
make a physical payment. Such c

» Firm cost
» Product cost
» Implicit cost
» Explicit cost

Question No: 7 (

If EOQ = 360 units, 0
0.20 per uruvhat is th
» 2,592 units

r order, and carrying costs are Rs.

- Please choose one

The flux method of l[@bBor turnover denotes:

» Workers e ed under the expansion schemes of the company

» The total change in the composition of labor force

» Workers appointed against the vacancy caused due to discharge or
quitting of the organization

» Workers appointed in replacement of existing employees

Question No: 10 (Marks: 1) -Please choose one

Over applied FOH will always result when a predetermined FOH rate is applied
and:

» Production is greater than defined capacity

» Actual overhead costs are less than budgeted
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» Budgeted capacity is less than normal capacity
» Actual overhead incurred is less than applied Overhead

Question No: 11 (Marks: 1) -Please choose one

Capacity Variance / Volume Variance arises due to

»> Difference between Absorbed factory overhead and budgeted
factory for capacity attained

» Difference between Absorbed factory overhead and absorption rate

» Difference between Budgeted factory overhead fer capacity attained and
FOH actually incurred

» None of the given options

Question No: 12 (Marks: 1) -Please chooseg

If a company uses a predetermined rate for t 3 factarny, overhead,
the idle capacity variance is the: -

eads items
verheads items

» Difference in budgeted cos f fixed 0

Question No: 13 ( Mark

At the end of the accountin i artment manager submits a
production report that shows
» Number of ‘[s in the
» Number of units sold

» Work in Process Department B and a credit to Work in Process

Department A
» Work in Process Department B and a credit to Materials
» Finished Goods and a credit to Work in Process Department B

Question No: 15 (Marks: 1) -Please choose one

In the process costing when labor is charged to production department no 1.
What would be the journal entry Passed? http://vustudents.ning.com/

» Payroll a/c
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To W.1.P (Dept-I)

» Payroll a/c
To W.L.P (Dept-I11)

» W.I.P (Dept-I)
To Payroll a/c

» W.I.P (Dept-Il)
To Payroll a/c

Question No: 16 (Marks: 1) -Please choo

Which of the following method of accounting_for
the same gross profit rate for all products? htt
» Actual costing method
» Services received method

» Market value method
» Physical quantity method

will produce

Question No: 17 (Marks: 1)

Which of the following co i d benefit of usefulness
for external reporting purpo

ase choose one

t which one of the following options?

arks: 1) - Please choose one

iable cost per unit both increases at10% and the fixed cost
does not change, what does its effect be on the contribution margin per unit and
contribution margin ratio?

» Contribution margin per unit and the contribution margin ratio both
remains unchanged

» Contribution margin per unit and the contribution margin ratio both
increases

» Contribution margin per unit increases and the contribution margin
ratio remains unchanged

141
Prepared By: SHAIKH, SAJJAD AL! & TANVEER AHMED



» Contribution margin per unit decreases and the contribution margin ratio
remains decreases

Question No: 20 (Marks: 1) -Please choose one

Which of the following factor/s would cause the break-even point to change?
» Increased sales volume
> Fixed costs increased due to addition of physical plant
» Total variable costs increased as a function of higher production
» All of the given options

Question No: 21 (Marks: 1) -Please choose one

Bruce Inc. has the following information about Rut, the o roduct sold. The
selling price for each unit is Rs. 20, the variabl Rs. 8, and the
total fixed cost for the firm is Rs. 60,000. sales of Rs.
130,000 for the next period. What is the margi [
> Rs. 30,000
» Rs. 70,000
» Rs. 100,000
» Rs. 130,000

Question No: 22 (Marks: 1)

Production budget is a
http://vustudents.ning.com/
» Functional budget
» Master bu

e following budget?

Question No* ase choose one
' ctive of direct material budget?
d maximum stock level

» All of the given options

Question No: 24 arks: 1) - Please choose one
All of the foll mpose cost of goods sold EXCEPT:

» Raw material
» Labor

» Capital
» Factory overhead

Question No: 25 (Marks: 1) - Please choose one

Financial managers use which of the following to plan for monthly financing
needs?
» Capital budget
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» Cash budget
» Income Statement budget
» Selling & administrative expenses budget

Question No: 26 (Marks: 1) -Please choose one

Which of the following sentences is the best description of zero-base budgeting?
» Zero-base budgeting is a technique applied in government budgeting in
order to have a neutral effect on policy issues
» Zero-base budgeting requires a completely clean sheet of paper
every year, on which each part of the organization must justify the budget it
requires
» Zero-base budgeting starts with the figures of the vious period and
assumes a zero rate of change
» Zero based budgeting is an alternative na

Question No: 27 (Marks: 1) -Plea

In a make or buy situation with no limiti [ the following would
be the relevant costs for the decision2ghttp:
» Opportunity costs )
» Differential costs between the two options
» Sunk costs
» Implied costs

quivalent units of output are
% completed. What will be the

- Please choose one

0 units
eceding department | 13,500 units,@4.50 per unit cost
his department 11,750 units, @3.75 per unit cost

What were the units of closing work in process?

» 11,750 units
» 1,750 units
» 13,500 units
» 2,187 units

Question No: 30 (Marks: 1) -Please choose one
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Which of the following is(are) base(is) of cost allocation under joint products?

» Physical quantity ratio

» Selling price ratio

» Hypothetical market value ratio
» All of given options

Question No: 31 (Marks: 1) -Please choose one

Income approach is used for the costing of which of the following?

» Joint products
» By-products
» Both Joint products and By-products
» None of the given options

Question No: 32 (Marks: 1) -Plea

Which of the following is an elemen
» Direct Labour Cost
» Cost of goods sold
» Cost of goods manufactured
» Mark up

ring cost Rs. 3,000, Variable
n what will be the profit under

:1) -Please choose one

ot becomes a part of product cost under marginal
costing?
» Direct mate

» Fixed manufacturing overhead
» Direct labor

Question No: 35 (Marks: 1) -Please choose one

What would be the margin of safety ratio based on the following information?

1. Sales price = Rs. 100 per unit

2. Variable cost = Rs. 25 per unit

3. Fixed cost = Rs. 50 per unit
» 25%
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> 33.333%
P> 66.666%
» 75%

Question No: 37 (Marks: 1) -Please choose one
What is the starting point of variable cost line on a break even chart at zero
production level?

» It must start from origin
» It might start from origin

» It does not start from origin
» Non of the given options

Question No: 38 (Marks: 1) -Pleasech
Responsibility center where the manager is
and costs is a(n):

» Revenue center

» Cost center

» Profit center

» Investment center

only th venues

Question No: 39 ( Marks:
Which of the following is/are

» Raw mater udget
» Direct labour get
» Factory overhe udget

» All of the given options

ase choose one
0, closing finished goods units are 200 and
nits are 100. What is the required production?

» 700 units
» 600 units

Which of the following budget includes an item of indirect material cost?
» FOH cost budget
» Direct labor cost budget
» Direct material cost budget
» None of the given options

Question No: 43 (Marks: 1) -Please choose one
Which of the following budget includes the item of depreciation of plant?
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» Direct labor cost budget
» Variable FOH cost budget
» Fixed FOH cost budget
» Direct material cost budget

Question No: 44 (Marks: 1) -Please choose one

All of the followings are included in Fixed FOH Cost Budget EXCEPT:
» Building rent
» Insurance
» Supervisor’s salary
» Heating and lighting

Question No: 45 (Marks: 1) -Pleasechoo

All of the following are the examples of administra
http://vustudents.ning.com/

» Salaries of employees

» Utility bills

» Interest paid on debt

» Depreciation of office equi

Question No: 46 (Marks: 1)

minimum cash balance
r February. Samson's
ash receipts of Rs. 20,500
s. 3,000 of depreciation). The
. In order to have exactly the
ary, Samson must:

Samson Company is requi
of Rs. 8,000. The Compan
beginning cash balance is
and cash disburse
company currently
required minimum bal
» Borfow Rs. 500
» Repay Rs. 500

:1) -Pleasechoose one

t & machinery is the best example of:
» Committed fixed cost

» Discretiona ed cost

» Incre st

» Avoidable cost

Question No: 48 (Marks: 1) -Please choose one

Which of the following is a cost that is always irrelevant to decision making?
» Opportunity cost
» Sunk cost
» Direct material cost
» Direct labour cost
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: 1) - Please choose one

In a situation where a company must subcontract work to make up a shortfall in its own
production capability, its total costs are minimized if those components/products
subcontracted are those:

» With the highest extra variable cost of buying per unit of limiting factor saved by

buying \

» With the lowest extra variable cost of buying per unit of limiting factor saved by
buying

» With the lowest extra fixed cost of buyin
buying

» With the highest extra fixed cos
buying

Question No: 2 (Marks: 1

Which of the followin e cost and conversion cost?

» Direct labor

Question No: 3 Marks: 1) - Please choose one

A firm had beginning finished goods inventory of Rs.15,000, ending finished goods
inventory of Rs. 20,000 and cost of goods sold of Rs. 80,000. What was the cost of goods
manufactured?

» Rs. 80,000
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» Rs.85,000
» Rs.75,000
» Rs.65,000

Cost of goods sold 80000
Add ending finished good 20000

Cost of goods available for sale 100000
Less opening finished goods 15000

Cost of goods manufactured 85000

Question No: 4  ( Marks: 1) - Please choose 0

“Taking steps for the fresh purchase of exhausted and for
which requisitions are to be honored i g
» Over stocking
» Under stocking
» Replenishment of stoc
» Acquisition of stock

will be evaporated; such kind of loss is termed

» Incremental

» Incremental abnormal loss.

Question No: 6  ( Marks: 1) - Please choose one

Machine lubricant used on processing equipment in a manufacturing plant would be
classified as a:
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» Period cost (manufacturing overhead)
» Period cost (Selling, General & Admin)
» Product cost (manufacturing overhead)

» Product cost (Selling, General & Admin)

Question No: 7 ( Marks: 1) - Please choose one

The net profit or loss for a particular period of time i of the
following?

» Statement of cash flows
» Statement of changes in owner's e
» Income statement

» Balance she

Ple hoose one

» Ascertain the relative worth of each job

» Breaking up job into its basic elements

» All of the given options

Question No: 9  ( Marks: 1) - Please choose one
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Capacity Variance / Volume Variance arises due to

» Difference between Absorbed factory overhead and budgeted factory for
capacity attained

» Difference between Absorbed factory overhead and absorption rate

» Difference between Budgeted factory overhead for capacity attained and FOH
actually incurred

» None of the given options

Question No: 10  ( Marks: 1) - Please ¢

The difference over the period of ti will usually be

minimal when the predetermined ov

» Normal capacity

: 1) - Please choose one

Which of the followi ould be considered a major aim of a job order costing system?
» To determine the costs of producing each job
» To compute the cost per unit

» To include separate records for each job to track the costs

» All of the given options
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Question No: 12 ( Marks: 1) - Please choose one

Which of the following is characteristic of a job order cost accounting system?
» It records manufacturing activities using a perpetual inventory system
» It tracks cost by job
» It is best suited for customized products

» All of the given options

Question No: 13 (Marks: 1) - Please ch

Examples of industries that woul rocess co | "of the following
EXCEPT:

» Beverages
» Food

» Hospitality

: 1) - Please choose one

If joint products are
be assigned to

e processed further beyond the point of separation, costs should
cts on the basis of:

» Adjusted sales value
» Ultimate sales value
» A physical unit of measure

» An engineering analysis
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Question No: 15 (Marks: 1) - Please choose one

Profit under absorption costing will be higher than under marginal costing if:
» Produced units > Units sold
» Produced units < Units sold

» Produced units =Units sold

» Profit cannot be determined with given stateme

Question No: 16 ( Marks: 1) - Plea

: 1) - Please choose one

The break-even poin nits is calculated using which of the following factors?
» Fixed expenses and the contribution margin ratio

» Variable expenses and the contribution margin ratio

» Fixed expenses and the unit contribution margin

» Variable expenses and the unit contribution margin
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Question No: 18  ( Marks: 1) - Please choose one

Accelerate Ltd has fixed costs of Rs. 72,000 per annum. It makes one product which it
sells for Rs. 32 per unit. Its contribution to sales ratio is 45%. Accelerates break even
point in units is:

» 5,000 units

» 7,000 units

» 2,250 units
» 2,750 units

break even point in units

Selling price per unit is Rs. 15, totalvari is Rs. 9, and total fixed costs
: i nits for “XIT”?

» 3,000 units
» 1,000

ﬁ? units

» 2,500 units
w

CM = SALES PER

T - VARIABLE COST PER UNIT

= 15-9
=6
BREAK EVEN POINT IN UNITS =FIXED COST /CM PER UNIT
=15000/6
=2500
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Question No: 20  ( Marks: 1) - Please choose one

In process costing, a joint product is

» A product which is later divided in to many parts

» A product which is produced simultaneously with other products and is of
similar value to at least one of the other products

» A product which is produced simultaneously but which is of a

greater value than any of the other products

» A product produced jointly with anot

Question No: 21 ( Marks: 1) - Please'choose one

The by-product of oil and fuel i

Foline an

» All of t@ven
N

Question No: arks: 1) - Please choose one

Which one of the following is NOT a tool of financial forecasting?
» Cash budget
» Capital budget

» Pro forma balance sheet
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» Pro forma income statement

Question No: 23 ( Marks: 1) - Please choose one

Atlas Productions expects to sell 85,000 gimlets its only product next year. The company
has a beginning inventory of 14,000 units and wants to hawye an ending inventory of
12,000 at the end of the year. How many gimlets does Atlas have to produce to meet its
goals?

» 79,000 units
» 83,000 units
» 85,000 units
» 97,000 units
SALES +ENDING - OPENI

Question No: 24

at 2 hours per unit at an average cost
abor cost to produce 27,000 units of product is:

TOTAL HOURS =12

LABOR COST PER HOUR =2 (12*2= 24)
DIRECT LABOR COST =27000* 24 = 684000
Question No: 25  ( Marks: 1) - Please choose one

Gleason Company has budgeted Rs. 15,000 in variable factory overhead costs and Rs.
10,000 in fixed factory overhead costs for the production of 2,000 units requiring 4,000
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direct labor hours. The standard factory overhead rate per direct labor hour and the
standard overhead cost per unit are:

» Rs. 12.50, Rs. 6.25
» Rs. 7.50; Rs. 15.00
» Rs. 15.00, Rs. 7.50
» Rs. 6.25, Rs. 12.50
SOLUTION
FIXED +VARIABLE FOH

15000+10000
25000

RATES
25000/ 4000 = 6.25

25000 / 12.5

Question No: 26 ( Marks: 1) - Pleas 0Se one

The master budget usually begi

» Production budg

» Sales bnge
o

Question No: arks: 1) - Please choose one

In the decision to replace an old equipment with a new equipment, which of the following
would be considered as relevant cost?

» The book value of the old equipment

» Depreciation expense on the old equipment
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» The loss on the disposal of the old equipment

» The current disposal price of the old equipment

Question No: 28 (Marks: 1) - Please choose one

Which of the following is a process by which managers anal
courses of action by the organization?

e options available to set

» Heuristics method

» Decision making

» The Delphi technique
» Systematic error

Question No: 29  ( Marks: lease choo

» 22,000 units
» 16,000
» 25,500 units

UNIT STARTED = COMPLETE + CLOSING WIP — OPENING WIP
Opening wip

Add started

Total units
Less closing
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completed
Question No: 30  ( Marks: 1) - Please choose one

Order level is a point at which,
P It is necessary to start production
P It is necessary to initiate purchase orders
P It is necessary to maintain minimum stock level

P It is necessary to maintain maximum stock levekfor orders

Question No: 31 (Marks: 1) - Please ch

Which of the following is an eleme t?
» Direct Labour Cost

» Cost of goods sold

ks: 1) - Please choose one

Which one of the following is the Traditional approach for costing?

» Contribution approach
» Absorption costing approach
» Decision making approach

» Marginal costing approach
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Question No: 33 ( Marks: 1) - Please choose one

Which of the following cannot becomes a part of product cost under marginal costing?
» Direct materials
» Variable manufacturing overhead
» Fixed manufacturing overhead

» Direct labor

Question No: 34 (Marks: 1) - Please ch

Under which of the following, a
regardless of whether they are variable or

s product cost,

» Absorption costing
» Direct costin

» Marginal costing

: 1) - Please choose one

udgeted sales of Rs. 8,000 and breakeven sales of Rs. 5,000
during a partic od whereas the actual sales amounted to Rs. 7,000. What will be
the margin of safety ratio?

» None of the given options

» 37.5%

» 40%

» 60%
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MOS = BUDGETED SALES - BE SALES
= 8000 - 5000
= 2000
MOS RATIO = MOS / budgeted SALES * 100
= 2000/ 8000 *100
=375
Question No: 36 ( Marks: 1) - Please choose one

A company ABC has contribution to sales ratio of 17% and a it to sales ratio of 6%.

What will be the margin of safety ratio?
» 283.3%
» 35.3%
> 11.5%

» |t can not be calculated fro

» To show the financial health of business

» To calculate the cost of production

Question No: 38  ( Marks: 1) - Please choose one
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Responsibility center where the manager is accountable for only the revenues and costs is

a(n):
p Revenue center
» Cost center

» Profit center

» Investment center M

Question No: 39  ( Marks: 1) - Please choose one

If, units of goods to be sold are 800, closin
finished goods units are 100. What is the seguir

» 900 units
» 1,000 units
» 700 units

» 600 units

IN

INISHED GOODS - OPENING FINISHED

se choose one

» Rs. 80,000

» Rs. 115,2

» Rs. 19,200

» Cannot be determined
96000 * 100/120 =80000

Question No: 41 ( Marks: 1) - Please choose one
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If estimated direct labour cost is Rs. 50,000 for producing 2,400 units then what is the

amount of FOH cost if FOH cost is assumed as 50% of direct labor cost?
» Rs. 25,000
» Rs. 1,200
» Rs. 26,200

» Cannot be calculated

50000 *50 % = 25000
Question No: 42 ( Marks: 1) - Please choose 0

Which of the following is an exampl ncial
» Salaries of employees
» Utility bills

» Interest paid

» It is an opportunity cost

» It do not affect the decision making process

» All costs are relevant

Question No: 44  ( Marks: 1) - Please choose one
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All of the following costs are relevant to decision making EXCEPT:
» Incremental Cost
» Overtime wages
» Variable cost

» Research & development cost

Question No: 45  ( Marks: 1) - Please choose

All of the following costs are irrelevant toglecis ng EXC
» Incremental cost
» Sunk cost

» Fixed cost

ease’choose one

ibution margin of Rs. 450,000 and fixed cost for the year
amount: . 495, ed cost of Rs. 215,000 can be eliminated if the operations
are to be closed duringwinter season. An extra sale of Rs. 25,000 is also expected during
winter season. What Id be the decision?

» Operations would be closed during winter season

» Operations would be continued as we are having extra sales in winter season
(my ans)

» Operations would be partially closed

» None of the given options
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Question No: 47 (Marks: 1) - Please choose one

A contract will be rejected in which of the following condition?
» If it reduces the contribution margin
» If it increases the contribution margin

» If it reduces the fixed cost

» None of the given options

Question No: 48  ( Marks: 1) - Plea

A contract will be accepted in which of th

» If it reduces the contribWin

P If it increases the contribution margin

s: 1) -Pleasechoose one
the problems in traditional budget EXCEPT:
activities involving wasteful expenditure are
identified, resultin unavoidable financial and other costs (page 220)

» Inefficien of a prior year are carried forward in determining

» Managers are not encouraged to identify and evaluate alternate means of
accomplishing the same objective

» Decision-making is irrational in the absence of rigorous analysis of all
proposed costs and benefits

Question No: 2 (Marks: 1) -Please choose one
A forecast set of final accounts is also known as:

» Cash budget

» Capital budget
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» Master budget ((Budgets pertaining to different functions or units are
then
combined and coordinated into one Master Budget.)

» Sales budget

Question No: 3 (Marks: 1) -Please choose one

Brutus Company manufactures glass bottles. The company expects to sell
500,000 bottles next year. The budgeted ending inventory this year is 15,000
bottles and the desired ending inventory for next year is 12,000 bottles. It takes 5
pounds of sand to produce one bottle. The ending inventory of sand this year is
expected to be 200,000 pounds, and the desired ending inventory next year is
100,000 pounds. The amount of direct material purchases i
Proposal Budget=E.Sales+Desire units-actualginits*
=500000+12000-15000=497000*5=2485000
Amount of direct material = proposal bud ' i ventory —
expected ending inventory

= 50 100000 -200000=
2385000

» 2,385,000 pounds
» 2,465,000 pounds
» 2,585,000 pounds
» 2,600,000 pounds

ne

BDH produced 30, i . Each unit of Kisty takes two
[ ted to cost Rs. 12 per unit. Current
ants 6,000 units of L on hand at the end of
ect materials budget show as the cost of

» Rs. 330,000
Proposal Budget= les+Desire units-actual units*per unit cost

2500*12=390000

Question No: 5 (Marks: 1) -Please choose one
Railway Product Ltd makes one product that sells for Rs. 72 per unit. Fixed
costs are Rs. 81,000 per month & the product has a contribution to sales ratio of
37.5%. In a period when actual sales were Rs. 684,000 the company's unit
margin of safety was:

» 4,000 units

» 4,800 units

» 5,500 units
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» 6,500 units
Safety Margin in units=Sales in units-Break even in units
Sales in units=684000/72=9500
Fixed exp in units=81000/72=1125
Break even in units = Fixed Exp. In units/Contribution ratio
= 1125/0.375=3000
Safety Margin =9500-3000=6500
Question No: 6 (Marks: 1) -Please choose one
A company decreased the selling price for its product from Rs. 2.00 to Rs. 1.75
per unit when total fixed costs decreased from Rs. 500,000 to Rs. 400,000 and
variable cost per unit of Rs. 1 remained unchanged. H ould these changes
affect the break-even point?
» The break-even point in units would begincreased
» The break-even point in units would be
» The break-even point in units would re
» The effect cannot be determined from t

Question No: 7 (Marks: 1) -PI
The total cost of the beginning i i . ing the month,
50,000 units were transferred o i omputed to be
Rs. 4.00 for materials and Rs. 7. i der the weighted-
average method.

With the help of given infor
and transferred out during th
» Rs. 480,00
» Rs. 570,000
» Rs. 540,000

, of the units completed

ative to simplicity because under the average method:
units started within the current period are valued at the

» The costs in the beginning inventory in a processing department maintain
their separate identity

» The identity of the beginning units in process is typically maintained when
they are transferred to the next department

» All units completed during the period will be assigned the same unit
cost

Question No: 9 (Marks: 1) -Please choose one

Assuming no returns outwards or carriage inwards, the cost of goods sold will be
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equal to:
» Opening stock Less purchases plus closing stock
» Closing stock plus purchases plus opening stock
» Sales less gross profit 100%
» Purchases plus closing stock plus opening stock plus direct labor
sales-cogs= gross profit
Question No: 10 (Marks: 1) -Please choose one
“Taking steps for the fresh purchase of those stocks which have been exhausted
and for which requisitions are to be honored in future” is an easy explanation of:
» Over stocking
» Under stocking
» Replenishment of stock (PAGE 50)
» Acquisition of stock
Replenishment of stock (page 50)
Therefore implies as ‘taking steps for the fre cks which
have been exhausted and for which requisition
Question No: 11 (Marks: 1) -Plea
Which of the following would be the [ perly measured?
» Expenses and revenues
» Unfair position in Fina
» Inventory items show under or
» All of the given opti
BOTH CORRECT
Question No: 12 ( Marks:
While calculating

ST AND ORDERING COST PERUNIT IS
Question No: 13 : - Please choose one

irect labor

es of Indirect labor

es of Administrative

ges of direct labor, Indirect labor, and Administrative

» Salaries &
» Salaries &

Question No: 14 (Marks: 1) - Please choose one
Increased cost of production due to high labor turnover is a result of which of the
following factor?

» Interruption of production

» Coordination between new and old employee to produce more

» Increased production due to newly motivated employees

» Decrease losses as new employees will be more concerned towards
output
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Labor Turnover:
Labor turnover may be defined as the rate of change in the composition of the
labor force of an organization high rate of labor turnover denotes that labor is not
stable and there is frequent change in the labor force in the organization. The
high labor turnover rate is an important indication of high labor cost
Question No: 15 (Marks: 1) -Please choose one
The Process of cost apportionment is carried out so that:

» Cost may be controlled
» Cost unit gather overheads as they pass through gost centers
» Whole items of cost can be charged to cost cente
» Common costs are shared among cost centers
A The charging of discrete identifiable items of cost t st units
B. The collection of costs attributable to cost cente
Methods, principles and techniques prescribed fo
C. The process of establishing the costs of co
D. The division of costs amongst two o
estimated benefit received, using a p
Question No: 16 (Marks: 1)
When a manufacturing Comp
producing many different products, th
cost to work in process is:
» Direct labor hours
» direct labor costs

lease choose one
would most likely use a Process cost

Question No: 18 arks: 1) - Please choose one

Which of th g loss is not included as part of the cost of transferred or
finished goods, but rather treated as a period cost?

» Operating loss

» Abnormal loss

» Normal loss

» Non-operating loss

Question No: 19 (Marks: 1) -Please choose one
A company produces two chemicals in a joint process. Chemical A can be sold
at split off while chemical B currently cost Rs. 2 per gallon for disposal. If
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chemical B is further processed, it would cost Rs. 5 per gallon. At what sales
price would the company be in different between disposing of chemical B at split
off and further processing the chemical?

» Rs.3
» Rs.5
» Rs.4
» Rs.7

Question No: 20 (Marks: 1) -Please choose one
Variable costing is also known as:
» Direct Costing
» Marginal Costing
» Both Direct Costing & Marginal Costing
» Indirect Costing

Units produced
Direct materials
Direct labo

Rs.2000
. Rs.2

Using the i i fle unit product cost under marginal
costing?

Question No: 22 (Marks: 1) -Please choose one
Net income reported under direct costing will exceed net income reported under
absorption costing for a given period if:

» The fixed overhead exceeds the variable overhead

» Production equals sales for that period
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» Production exceeds sales for that period
» Sales exceed production for that period (page 171)

Question No: 23 (Marks: 1) -Please choose one
Profit under absorption costing will be higher than under marginal costing if:
» Produced units > Units sold (page 171)
» Produced units < Units sold
» Produced units =Units sold
» Profit cannot be determined with given statement

Question No: 24 (Marks: 1) -Please choose one
A firm sells bags for Rs. 14 each. The variable cost for ea

is the contribution margin per unit?
Contribution Margin = sales value of i le cost per
unit

nit is Rs. 8. What

» Rs. 6
» Rs. 12
» Rs. 14
» Rs. 8

Question No: 25 ( Mark
The break-even point in uni h of the following factors?
break-even poi i margin equals fixed costs

is called break

ntribution margin ratio
contribution margin

Question No: 26
The point t line intersects the sales line will be called:

Question No: 27 (Marks: 1) -Please choose one
If one would prepare a graph with a horizontal axis representing units of
production and a vertical axis representing per-unit production cost, how would a
line representing fixed production cost is drawn?

» As a horizontal line (page 193)

» As a vertical line

» As a straight line sloping upward to the right

» As a straight line sloping downward to the right

Explanation: The per-unit fixed cost would decline as production increased.
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That is, total production divided into the constant fixed cost amount would result
in a decreasing per unit fixed cost. A line sloping downward to the right would
represent this situation.
Question No: 28 (Marks: 1) -Please choose one
Budget for an organization is prepared by which of the following person?

» Functional head

» Manager

» Auditor

» Administrator

http://www.laynetworks.com/Accounting%20and%20Fipance%200n%20Comp

uters.htm

Question No: 29 (Marks: 1) -Pleasechoo
Amount of Depreciation on fixed assets will be fi
which of the following method?
» Straight line method
» Reducing balance method
» Some of year's digits method
» Double declining method
Solution:  Fixed Cost

ulated under

activity level.

Graph of Fixed Cost
This graph shows th
Examples include:

a. Salary of the pro

» All of the given options

Question No: 31 (Marks: 1) -Please choose one
All are examples of cash disbursements EXCEPT:
» Payment for materials purchased
» Payment received as collection of accounts receivable
» Payment of dividends
» Payment of taxes
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Question No: 32 (Marks: 1) -Please choose one
A budget that requires management to justify all expenditures, rather than just
changes from the previous year is referred to as:

» Self-imposed budget

» Participative budget

» Perpetual budget

» Zero-based budget

Question No: 33 (Marks: 1) -Please choose one
Which of the following sentences is the best description
» Zero-base budgeting is a technique applied in g
order to have a neutral effect on policy issues
» Zero-base budgeting requires a co heet of paper

zero-base budgeting?
rnment budgeting in

requires
» Zero-base budgeting starts with_the f i iod and
assumes a zero rate of change
» Zero based budgeting is an al

Question No: 34 (Marks: 1)
Which of the following is the first'Step
» Clarify the decisio
» Collect the data

» Select an alternative
» Develop a isi

equipment
of the old equipment

- Please choose one
any has 1,600 obsolete calculators that are carried in
inventory at a total/€@st of Rs. 106,800. If these calculators are upgraded at a
total cost of 00, they can be sold for a total of Rs. 120,000. As an
alternative, the calculators can be sold in their present condition for Rs. 44,800.
What will be the sunk cost in this situation?

» Rs.0

» Rs. 40,000

» Rs. 44,800

» Rs. 106,800

A sunk cost is a cost that the already been incurred and cannot be altered

by any future decision. If sunk costs are not affected by a decision then
they must be non-relevant costs for decision making purposes

The Auslander Co
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Question No: 37 (Marks: 1) -Please choose one
Costs that have been incurred include which of the following?
» Only opportunity costs
» Costs that have already been paid
» Costs that have been committed
» Both costs that have already been paid and committed

Question No: 38 (Marks: 1) -Please choose one
For a retail outlet chain with multiple stores, which of the following statements
would be correct?

» Stores which have a net loss should be discontinu

» Stores with a negative contribution e discontinued
provided such discontinuation will not cause an in ther stores
» Stores with a negative contri not be

discontinued if such discontinuation
portion of the unprofitable store's ove

Question No: 39 (Marks: 1)
In the process costing when m
1.what would be the journal entry Pas

to"department no

» W.IL.P (Dept-I)
To Material a/c

» W.I.P (Dept-
To Material a/c

Question No: 40 (Marks: 1) -Please choose one
FIFO is the abbreviation of:

» Final Interest-Free Option

» First in First out Method

» None of the given options

» Fixed income Financial Operations
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